I | TIG TORCH

EEEEFTIG TORCH 9%@]
EURO UK USA M (€ svammz

224 TIG TORCH 9%&5%|
EURO UK USA ¥ (€ Ensosrar

=0 TR T

Torch four switches 9F 4m M12x1/leather
AT I GTI GOFX Ami M2 x 1 IR 4P

Torch dubtig 9F 8m M12x1/leather

m 15400 FF 2/ TIGOFX/BmIM12x 1/ 2 8% i
Torch dubtig 8F 4m M12x1/leather 1
48 T FF SITIGIFXMmIMA 201/ 4
Torch four switches 9F 8m M12x1/leather
EURO Description m T Mi2d | 5 100 T 0TI GOFX B/ M12 1/ B4 :
Torch sintig 8F 8m M12x1 Torch four switches 9 4m M12x1/lsather
R/ FF KITIGIFX/Bm/M12x1 FEARIT FF SEITIGO/AmIMA 2x1 [ 40 3 1
Torch sintig 9F 4m M12x1 Torch dubtig 9 Bm M12x1/leather 1
m 12 FFSRITIGIFX/4mIM 1 2x1 $2 T FF 2ITIG/BmIM 12X B 5
Torch dubtig 9F 8m M12x1 Leather Torch dubtig 8 4m M12x1/leather
FEAA/IFE S/ TIGIFX/BmIM12x1 I TF I TIGY/AmIMA 251 B 4 2 1
Torch dubtig 9F 4m M12x1 Torch four switches 9 8m M12x1/leather
AL I HKITIGIFX/4mIM 1 2x1 SR 40/ FF 2/ TIGO/BmIMA 2x1 /R 30 & .
M12x1 Torch sintig 9 Bm M12x1
15 4/ FF 2EITIGI/8mIMA 21 1
Torch sintig 9 4m M12x1 1
F2 4/ FF SEITIGO/4m/M 12X 1
Torch dubtig 9 8m M12x1
Epdm 2T FF I TIGI/Bm/M12x1 1
Torch dubtig 9 4m M12x1 1
152 HTFF 2 TIGSI4mIMA 21
Leather

UK Description m
Technical data \HEASE “ Ié)gh;mhg 9F 8m 3/8G
| " 18 FF =ITIGOFX/Bm/3/8G
Cooling: Gas Cooled |14 - Torch sinig O dm a8 ; , curo. T T
Duty35%DC: 110AMP | Eifi35% H4L%: 110AMP BRI TIGUEX /s 80 m

Torch Tig8V 8m M12x1
Torch dubtig 9F 8m 3/8G
Duty35%AC: 95AMP | ZF AT 35% £ % : 95AMP 3/8G 18 4/TLFF 2 TIGOFX/Bm/3/BG i 2 4TIGIV/Bm/MI 21

Torch Tig9V 4m M12x1
e | Torch dubtig 89F 4m 3/8G 4
Electrode Size: 0.5-1.6mm, R~ :0.5-1.6mm 1R AR T I TIGIFXI4mI3/8G 1 M12x1 FEHITIGIVIAmIMI2x1
: Torch sintig @ 8m 3/8G Torch auto Tig9 8m M12x1 1
1245 IT 2/TIGR/BMI/3/BG 1 Ta # :ﬂ ta:rlT?sa;im;:‘ 1 le
. orch auto TigQ 4m x
Torch sintig 8 4m 3/8G ITIGS/4m/M12x1 1
1R 500 FF ZITIGH4mM/3/BG 1 [=EEE T miM12x
Torch dubtig 9 8m 3/8G 1
/LT SITIG/BMI3IEG
Torch dubtig @ 4m 3/8G Epdm
15 4815 FF 2/ TIGO/Am/3/8G 1 pd

vo I T

Torch sintig 9F 8m 5/8-18UNF

SE40 1 0FF 3 (TIGIFX/Bm/ 5/8-18UNF

Torch sintig 9F 4m 5/8-18UNF 1
1EH I (TIGIFX/Am! 5/8-18UNF

Torch dubt ig 9F 8m 5/8-18UNF

Bl Ooecription |
184 TRFF 2 [TI GIFX/Bm 5/8-18UNE 1 Description m

Torch dubt ig 9F 4m 5/8-18UNF

1
1848 (T 3 ITIGIFX/4m/ 5/8-18UNF 1 15 #ITIGOVIBMI3/8G

i A Torch Tig9V 4m 3/8G
Torch sintig 9 8m 5/8-18UNF |
;5 g-‘; ;;?—.!TIGmQ.‘Em#SIB-‘I BUNF 1 Epdm EHTIGIV4m/3/8G
Torch auto Tig9 8m 3/8G

Torch sintig 9 4m 5/8-18UNF TIGY/Bm/3/B 1
5/8" 18 UNF R R4/ FF RITIGH/4mI5/8-1BUNF 1 fg;:;_m TG 93:, m(;
Torch dubtig 9 Bm 5/8-18UNF ED » a%ﬁ'lé% 4 ":'a;sc 1
1AW FF RITIGY/Bm/5/8-1BUNF 1 3/18G e 4m,

Torch dubtig 9 4m 5/8-18UNF 1
Epdm 42 46/ 7F 2/ TIGY/4m/5/8-1BUNF

11

MNote: about the registered trade mark,reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand




124ERCTIG TORCH 17&7%
EURO UK USA ¥ (€ enewra

EURO Dascrlptlon .::EI.

Torch four switches 17F 4m M12x1/leathar
1M I RTI GATFX/AmI MI2 x4/ iR B

Torch dubtig 17F 8m M12x1/leather 1
R I EITIGITEX/BmIM12x1 /B iR B

Torch dubtig 17F 4m M12x1/leather
R HRF XITIGATEXAmIMI2x 1/ E P 5

Torch four switches 17F 8m M1Zx1/leather

I | TIG TORCH

{2 TIG TORCH 1723
EURO UK USA ¥ (€ e

ik

Technical data

Cooling: Gas Cooled
Duty35%DC: 140AMP
Duty35%AC: 125AMP

18 RITLF ITIGA TFXIBmIMA2 X/ 5 B i
Torch four switches 17 4m M12x1/leather
EURO Description m IR F RITIC THAmMI 2X 1 /B4 B !
Torch sintig 17F 8m M12x1 ARER, Torch dubtig 17 8m M12x1/lsather ]
RREF KITIGI7TFX/Bm/M12x1 AT KITIGI7IBmMIMI 21 I 7
Torch sintig 17F 4m M12x1 Leather Torch dubtig 17 4m M12x1/leather
IR IFRITIGITEX/4miM1 2x1 e TR I EITIGITAMIMI2X 1 B P B 1
Torch dubtig 17F 8m M12x1 Torch four switches 17 8m M12x1/leather 1
R XITIGITFX/Bm/M12x1 BRI EITIGITBmIMI2X R %
Torch dubtig 17F 4m M12x1
BRI ITIGITEXMAmIM 2x1
Torch sintig 17 8m M12x1
S5 HE I EITIGTT/8mIMA 2x1
Torch sintig 17 4m M12x1
m IS HIIA FF ITIG7/4mIM 1 2x1
Torch dubtig 17 8m M12x1
BRI X/TIGI7/BmIMA 2x1
Torch dubtig 17 4m M12x1
FEHETLFF EITIGT/4mIMA 2x1
M12x1
Leather

Epdm

I . i
A BH -
DRI R S

| EL7E35% $ % : 140AMP

| 35 % 35% H 45,5 - 125AMP

I
Electrode Size: 0.5-2.4mm1 B4 R <F:0.5-2.4mm

=

v T T

Torch sintig 17F 8m 3/8G

TR T XITIGITFX/BmI3/BG
Torch sintig 17F 4m 3/8G
I240/5 5 XITIG1TFX/4mI3/8G
Torch dubtig 17F 8m 3/8G
T RITIG1TEX/8m/3/8G
Torch dubtig 17F 4m 3/8G
B A XITIG1TFX/4m/3/8G
Torch sintig 17 8m 3/8G

FE R/ T XITIG17/8mI3/8G
Torch sintig 17 4m 3/8G
FREE I RITIGIT/4m/3I8G
Torch dubtig 17 8m 3/8G
B A XITIGI7/8m/I3/8G
Torch dubtig 17 4m 3/8G
ST F RITIGA T/4m/3/8G

B Deeiion L rece

Torch sintig 17F Bm 5/8-18 UNF

2 E T ETIGTFX/Bm/SIB-18 UNF
Torch sintig 17F 4m 5/8-18 UNF

B8 F RTIG1TFX/4m/5/8-18 UNF
Torch dubtig 17F 8m 5/8-18 UNF
FE#IFF EITIG1T FX/BmIS/E-18 LNF
Torch dubtig 17F 4m 5/8-18 UNF

{2 8IF £ITIG17 FX/4mISE-18 UNF
Torch sintig 17 8m 5/8-18UNF
R4 FF EITIG17/BmI5/8-18UNF
Torch sintig 17 4m 5/8-18UNF
SR/ FF 2KITIG17/4m/5/8-1BUNF

Torch dubtig 17 8m 5/8-18UNF
ST FF KITIG17/8mi5/8-1BUNF

Epdm

M12x1

EURO Dascrlptlon .m.

Torch TIG17V 8m M12x1
BHRITIGITVIBmIM12x1

Torch TIG17V 4m M12x1
2 HITIGT1TVI4mIM12x1

Torch auto TIG17 8m M12x1

& SR ARTIG17/8m/IM12x1 :
Torch aute TIG17 4m M12x1 1
B HFEARITIGT 7/4mIM1 2x1

o T T

Torch TIG17V 8m 3/8G
ERITIGITVIBMI3BG

Torch TIG17 4m 3/8G
RHITIG1TV/4m/3/8G
Torch auto TIG17 8m 3/8G
BB RITIG17/8m/3/8G
Torch auto TIG17 4m 3/8G 1
B g TIG17/14mi3/8G

5/8" UNF R Torch dublig 17 4m 5/8-18UNF

9§ H/RLFF KITIG17/4mi5/8-1BUNF

1 3/8G

Note: about the registered trade mark,reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand

54-




I TIG TORCH ""EURO ¥IC€

EREEASFTIG TORCH 18%%
EURO UK M (€ eneosra R0 TR T

FRAEI T £ITIC 18/4miM 1 21 147 5 i
Torch dubtig 18 8m M12x1/| eather 1
4TI RITIG 18Bm IMI2X VRS B

Torch dubtig 18 4m M12x1/l eather
PR ITFF RITIG 18M4m 12X B
Torch four switches 18 8m M12x1/le ather
A ETIGA8BmM 2x 1 &

4

L pescription | Pack |

i 0L

Torch sintig 16 8m M12x1 : Leather 1/4G
92 #y/90 FF XITIG18/8m/M 12x1
Torch sintig 18 4m M12x1 ] M12x1
_' 15 #0180 TF E/TIG18/4m/M12x1 3/8G
Torch dubtig 18 8m M12x1 4
“ P2 T IF 2£/TIG18/8m/M12x1
Torch dubtig 18 4m M12x1 "
- 2T FF RITIG18/4m/M12x1
Epdm
114G .
M12x1

Leather

EURO Description .m.

Torch TIG 18V 8m 1
HEITIG1BV/EM

e Torch TIG 18V 4m
" HHITIGIBY/4m 1

]

Auto torch TIG 18 Bm 1
_ { B R ITIG18/8m
Auto torch TIG 18 4m
1 A I - B B 1E#ITIG18/4m
Technical data  [HASH U  ocscription | Pack |
1/4G

I
ing: 7K Torch sintig 18 8m 3/8G
Cooling: Water Cooled :?%ﬁﬂ)?it.ﬁ(;% ,;% ;;;t% : Ga%mmmw ] iae_
Duty100%DC: 320AMP | Eifi100% & #i% : 3220AMP Torch sintig 18 4m 3/8G i _ 786
: | s - 98 /28 FF 3ITIG18/4mI3/BG _
Duty100%AC: 240AMP | i 100%% &5 - 240AMP BRI 1
Electrode Size: 0.5-4mm | f4% R <:0.5-4mm #RAEI I AITIG18/8m/3/86

Torch dubtig 18 4m 3/8G 5
PRI XTIG18/4m/3/BG

Note: about the registered trade mark, reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand

56-




' TIG TORCH

1RIEECETIG TORCH 20R35
EURO UK (€ ensosrar

Epdm

Technical data HEARSH

Cooling: Water Cooled E%Eﬂﬁi’t:)ki%
Duty100%DC: 250AMP | EL3100% # (% : 250AMP
Duty100%AC: 220AMP |32 100% % % : 220AMP
Electrode Size: 0.5-3.2mm, B} R ~F:0.5-3.2mm

1/4G
M12x1
3/8G

i L

'._
e

3/8G
3/8G
3/8G

}

B oescription [ Pack |

Torch sintig 20 8m M12x1 1
SRR T RITIG20/8m/M12x1
Torch sintig 20 4m M12x1

#4815 71 X/TIG20/4m/M12x1 ]
Torch dubtig 20 8m M12x1 1
SRR RITIG20/8mIM 1 2x1
Torch dubtig 20 4m M12x1 1
IR FEOW FF EITIG20/4mIM12x1

Ty pescription | Pack |

Tarch sintig 20 Bm 3/8G 1
S8 4/ 8 FF KITIG20/BmI3/BG

Torch sintig 20 4m 3/8G

BRI T RITIG20/4mI3/8G 1

144 TIG TORCH 20%5l
EURO M (€ Eneusrar

Torch four switches 20 4m M12x1/le ather
R F RITIG204mM 201 B 1 5

Torch dubtig 20 8m M12x1/eather
FHITUI SRITIG 2008m IMA2X 1 B &

Torch dubtig 20 4m M12x1/leather
FEHEITLIF ITIC 20/4m IM12x1/ IR B

Torch four switc hes 20 8m M12x10e ather
15 HIE FRTIG208mM 1 2x 1 B 7 5

114G
M12x1
3/8G

Leather

i

Leather

1

1

1

EURO Description .m.

EURO Description .m.

Torch TIG 20V 8m
HHITIG20V/Bm

Torch TIG 20V 4m
RHTIG20V/4m

Auto torch TIG 20 8m
B B ITIG20/8m

Auto torch TIG 20 4m
[ 538 #4/T1G20/4m

1/4G

il Ll

3/8G

m
| -g-
=]

Note: about the registered trade mark, reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand

1

1

1

58-




I I TIG TORCH R O

BRI TIG TORCH 24%%
EURO UK ¥ C € ENeosrar =uro. TR T

ﬂ Taorch sintig 24 WF 8m M1 2x1
HEEE T SITIG24W FX/8m/M1 2x1

Torch sintig 24WF 4m M12x1
_ R RITIG24W FX/4m/M12x1

Torch dubtig 24WF 8m M12x1
SRR RTIG24W FX/8m/M12x1

EURO Description m — T!mech d?ﬁ%ﬁf&?ﬂlmn 1
Torch sintig 24F 8m M12x1 Torch sintig 24W 8m M12x1 ’
¥ 84/ FF RITIG24FX/BmIM12x1 m m orch sintig m ®
m iz ] 12 4218 FF SITIG24W/BmIM12x1 d

Torch sintig 24F 4m M12x1 1 M12x1

] |

8 AR/ FT RITIG24FX4mIM 1 2x1 Torch sintig 24W 4m M12x1

Torch dubtig 24F 8m M12x1 Epdm 3/8G 15 $6/1 5 2/ TIG24W/ m/M12x1 1

AT FF 2/TIG24FX/Bm/M12x1 1 Torch dubtig 24W 8m M12x1 ;
M12x1 Torch dubtig 24F 4m M12x1 92 R X/ TIG24W/BmIM12x1

$EAITLFF 2TIG24FX/4m/M12x1 1 Torch dubtig 24W 4m M12x1

. 1
v Torch sintig 24 8m M12x1 7 R TF X/TIG24W/4m/M12x1
S84/ FF RS TIG24/8mIM12x1

Torch sintig 24 4m M12x1

I8 40/ TF 3ITIG24/4mIM 1 2x1
Epdm Torch dubtig 24 8mM12x1

AT I XITIG24/8mIM12x1

Torch dubtig 24 4m M12x1 . UK Deserlptlon .E.
R/ FF EITIG24/4mIM12x1

ﬂ Torch sintig 24WF 8m 3/8G
125/ 57 £/ TIG24W FX/Bm/3/8G
| R “ Torch sintig 24WF 4m 3/8G 1
Technical data | FEARBE 1R FF RITIG24W FX/4m/3/BG
= I — Torch dubtig 24WF 8m 3/
¢ I T Coolng: Weter Cooled 42072 % —_ RS S nase
m gé?;;t%g ?ﬂiﬁ“m Duty100%DC: 180AMP | Ei%100% % £ % : 180AMP Toreh dubig 247WF 4m 318G :
m 1 1T 7 3/ TIG24W FX/4m/3/8G
Torch sintig 24F 4m 3/8G Duty100%AC: 120AMP | 32 100% & £ : 120AMP i i
orch sintig m 1 \ Torch sintig 24W 8m 3/8G 1
i MR XTG4 EXIdmiBle0 Electrode Size: 0.5-2.4mm B4} R +F:0.5-2.4mm ShC RS IeRIGeAW s/
Technical data : Torch dubtig 24F 8m 3/8G I _ e
| St R A ot omisso * T 1
COO'IHQI Gas Cooled : P% EBjJ_it i "‘L‘/% 3/8G Eﬁ;bg-ﬁgzi:%fsg;ae 1 Torch dubtig 24W 8m 3/86G 7
Duty35%DC: 110AMP ! Eiii35% & % 110AMP A e
1 orc ubtig m 3
Duty35%AC: 95AMP 13237 35% & 8 : 95AMP Mt R/TIC26i0MI.60 15 I KITIG24W/4m/3/8G 1
. 1 Torch sintig 24 4m 3/8G 4
Electrode Size: 0.5-2.4mm, BiR R~} :0.5-2.4mm 15 $8/8 FF R(TIG24/4m/3/86
! Torch dubtig 24 8m 3/8G E
T FF E/TIG24/8m/3/8G
Torch dubtig 24 4m 3/8G q
1R ETLFF RITIG24/4mI3/BG

EURO Descrlptlon .m.

Torch four switches 24W 4m M12:=1/leather
BREARTIGUWAMM 22t 7 E

Torch dubtig 24W 8m M12x1/leather

=0 T T T

Torch four switches 24F 4m M12x1/leather
= R FRTIC2AFXAmIM2x 1R 5 . i FHT T AITIC2EWBMMI2X K E
x 4 Torch dubtig 24F Bm M12x1/leather 1 Torch dubtig 24W 4m M12x1/leather 1
AR FRTIC2AFXEmIMI 21 (B 10 SRR TIC2AWMAMMIZ 1A E
Torch dublig 24F 4m M12x1/leather 1 Leather Torch four switches 24W 8m M12=1/leather 1
FEMEETIC24FXAmMI 2 B E SHERETICAWEMIMIZIE R E

M12x1 Torch four switches 24F 8m M12x1/leather P 114G

RN F LTIGAFXISmIMI 22 E IR

M12x1
Leather Torch four switches 24 4m M12<1/lgather :

BRI XTIG24EmMI2x 1B E U 3/18G

Torch dubtig 24 8m M12x1/leather 1
EREARTIG24BmMI 2B E

Torch dubtig 24 4m M12x1/eather
AEMARTICHAEmMIZERR

Torch four switches 24 8m Mi2x{lsather ; M
BRI TIG24BmMA 2 i P

Leather

I

Leather

Note: about the registered trade mark, reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand

60-




| TIG TORCH " EURO Y€ s

B3R TIG TORCH 25% %)
v YT
EURO UK M C€ exemre e T T T

M BRI RTIG25BmMI 20 R iFE !

' Tarch dubtig 25 4m M12x1/leather
) B— Loather | pnt R et e 1

Torch four switches 4m M12x1/leather
ﬁﬁmﬁﬂTlGZSMmNﬂxﬂﬁﬂi

Torch sintig 25 8m M12x1 Torch four switches 8m M12x1/eather

R RIRIF RITIG25/8m/M12x1 1R I I £TIG 288 1251/ iR B
Torch sintig 25 4m M12x1 1
m SR I RITIG25/4mIM 12X

Torch dubtig 25 8m M12x1

Epdm 1248/T 7 £/ TIG25/8m/M12x1 1
Torch dubtig 25 4m M12x1 1
SRR I RITIG25/4mIM12x1

3/8G

lechnical data  |HASE o T T

Cooling: Water Cooled i HEAR KA Eﬁ?;;ﬂ Sl
Duty100%DC: 250AMP | E it 100%% $i 3 : 250AMP ggrg;%s 4m3/8G 1
S ot i : | IG25/4m/3/BG
Duty100%AC: 220AMP :3?:3?5100;@’5&% : 220AMP Torch dilbilg 25 r 3066 -
Electrode Size: 0.5-3.2mm; iR R F:0.5-3.2mm FRAE/T I RITIG25/Bm/3/8G
1 Torch dubtig 25 4m 3/8G :
HE T FF ITIG25/4mI3/8G Leather

Note: about the registered trade mark, reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand




R TIG TORCH 26 %5
EURO UK M (€ eneorr

EURO Description .::!!.

Torch four switches 26F 4m M12 x1/leather

4RI FF 2TIG26FX Ami M2 X1/ 4 2 i
Torch dubtig 26F 8m M12x1/leather 1
AR RITIGZEF X/ EmIMI2x 1 E I &
— Torch dubtig 26F 4m M12x1/leather 1
m AR LITIG26FXImMA2x 1 (E 3 F
i Torch four swilches 26F 8m M12 x1/leather 1
AT T FITIG26F X/ Bmy M12x1/ [ 4P B
Torch four switches 26 4m M12x1/leath 1
[ M2 | 18 R0/ 5 ITIG26/4mIMA 21 2 B
i Torch dubtig 26 8m M12x1/leather

I | TIG TORCH

{21ER{ETIG TORCH 26%5
EURO UK USA /(€ exsurz

curo T T

Torch sintig 26F 8m M12x1

54/ FF RITIG26FX/BmIM12x1 it R4/ IF 2ITIG26/8m/M 1251/ 4 2 i
Torch sintig 26F 4m M12x1 - eatner Torch dubtig 26 4m M12x1/leather z
#8460/ 77 SEITIG26F X/4m/M12x1 IR/ IF FITIG26/4m/M 1251/ 4 5
: Torch dubtig 26F 8m M12x1 Torch four switches 26 8m M12x1/leath
m F2 40/ T S5/ TIG26F X/8m/M12x1 1 15 801 7 22/ T1G26/8m/MA 251 15 4 1
Torch dubtig 26F 4m M12x1 1
AT FF RITIG2ZBFX/4m/M12x1

Torch sintig 26 8m M12x1
HEAEIER T RITIG26/8mIM 1 2x1
Torch sintig 26 4m M12x1
FRARIR I ITIG26/4mIM1 2x1
Torch dubtig 26 8m M12x1
ST I EITIG26/8mIM12x1

Torch dubtig 26 4m M12x1 1
5T FF EITIG26M4mIM T 221

Epdm M12x1

Leather

EURO Descnptlon .m.

Torch TIG26YV 8m M12x1
JHITIG26V/Bm/M12x1

T T

Torch TIG26V 4m M12x1
Torch sintig 26F 8m 3/8G 1
Technical d RSB ] 18 15/06 5 2/TIG26FX/8m/3/8G 5 HTIG26V/4mIM12x1
echnica ata : e Torch sintig 26F 4m 3/80 Torch auto TIG26 8m M12x1 4
Cooling: Gas Cooled & #1AI. 5% 12 4/ 8 FF £/T|G26F X/4m/3/8G B 18 HITIG26/8m/M12x1
! . Torch dubtig 26F 8m 3/8G Torch auto TIG26 4m M12x1 1
Duty35%DC: 180AMP 1 Hiit35% % {3 . 180AMP 15 BT FF 2TIG26FX/BM/3/8G m B 319 RITIG26/4m/M12x1
I :
%AC: |5 % 3/8G Torch dubtig 26F 4m 3/8G
Duty35%AC: 150AMP ! FIS%E ¥ . 150AMP e g RN

Electrode Size: G.5-4mm: iR R :0.5-4mm

Epdm

1

5/8" 18 UNFR

Torch sintig 26 8m 3/8G
1R/ FF XITIG26/8m/3/8G
Torch sintig 26 4m 3/8G
BB 1G26/4m/3/8G
Torch dubtig 26 8m 3/8G
12/ FF KITIG26/8m/3/8G
Torch dubtig 26 4m 3/8G
12T FF KITIG26/4mI3/BG

vor ICTTET T T

Torch slntig 26F 8m 5/8-18UNF
SR 1T 25 ITI G26 FX/ 8mi5 (8- 1BUNF

Torch sintig 26F 4m 5/8-18UNF
b BT (TIG26 FX/ 4my5 (8- 18UNF

Torch dubtig 26F Bm 5/8-18UNF
S ILH 3 I TIG26 FXU BmiS /8- 18UNF
Torch dubtig 26F 4m 5/8- 1BUNF
SR I TIG26 FX) 4mi5 /8- 18UNF

Torch sintig 26 8m 5/8-18UNF
12 Ht/8 ¥ XITIG26/8m/5/8-1BUNF

Torch sintig 26 4m 5/8-18UNF
124/ F EITIG26/4mI5/8-1BUNF
Torch dubtig 26 8m 5/8-18UNF
1R T RITIG26/8m/5/8-18UNF

Torch dubtig 26 4m 5/8-18UNF
RO AT /TIG26/4mi5/8-1BUNF

Epdm

Epdm

o T T

Torch TIG26V 8m 3/8G
HATIG2EVI8m/3/8G

Torch TIG26 4m 3/8G

£ 42/TIG26V/4m/3/8G !
Torch auto TIG26 8m 3/BG i
[ 5124/ TIG26/8m/3/8G
Torch auto TIG26 4m 3/8G 1
& B ITIG26/4m/3/8G

Note: about the registered trade mark,reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand

64-




CONSUMABLES TIG

9-20-24-25 S fE | C€ enewrar

CRer. | Description ————Jpack_

Collet body © 2.4mm T1G24- 24W

ONSUMABLES TIG

¥| C € weora7 (® 9-20-24-25 5
“Ror. | Description ——Jpuck |

Alumina cup gas lens GRT TIG24- 24W

24CB332  gipsr g © 2. 4mmITIG24-24W 10 S3NGIXL ez v GR7ITIG24- 24W 10
Extralarge gas lens @ 1.0mm TIG9-20-25 Alumina cup gas lens GRS TIG24- 24W
A45V02045  yok s BB 4 © 1.0mm/TIGE-20-25 L S3NETS  gemis g GRA/TIG24- 24W 10
IHMata Flhoo1e 105 Extra large gas lens @ 1.6mm T1G9-20-25 Alumina cup gas lens GR4 TIG24- 24W
48VIES  yoys wEE i o 1.6mm/TIG9-20-25 10 53NS8 g % GRAITIG2A- 24W 10
Extra large gas lens @ 2 4mm TI1G9-20-25 Alumina cup gas lens GRS TIG24- 24W
. 45V64S ks EEEE 4 0 2 4mm/TIGE-20-25 i S3NS9 sk g GRSITIG24-24W g
TIG9-20-25 . TIG24 9957955  EXtralarge gas lens © 3.2mm T1G9-20-25 . sango  Alumina cup gas lens GR6 TIG24-24W 0
R AS EiEE & © 3. 2mmiTIGE-20-25 PEENE M GRG/TIG24- 24W
]
! ! Extra large gas lens © 4. 0mm TI1GS-2 0-25 Alumina cup gas lens GRT TIG24- 24W
| 252 oes 32 o33 ! 45VB3S ok B 4 © 4.0mm/TIGE-20-25 i SINGT s o GR7/TIG24- 24W 2
! 1GLi00334T tauoooa-0s” f T IBHOIOE0E 1BU0g0-06: ' Insulator torch body TIG9-2 0-25 Alumina cup GR3XL TIG9-2 0-25
. ' II " H { H 31 ' 598882 by ek 9ITIGO-20-25 10 TOBFT4 e GRAXL/TIGO-20-25 10
Insulator torch body TIG24- 24W Alumina cup GR4XL TIG9-20-25
g | | S3N22  tastup thiRiTIG24- 240 16 T9BFTS g GR4XL TIGS-20-25 10
s l 1 l : n
! | | , s 20 ERBUIRILL el T :
1GK000S | iGkooos -} 1GKOOTE '] 1GKDD08 [ 4 ”
! =1 S 53NGE Large gas lens insulator torch body T1G24- 24W 10 796E79 Alumina cup GR4XXL TIGS-20-25 10
! e s : ! i InHe SkEhtg $EITIG24- 24W MIFERE 8 GR4XXL/ TIG9-20-25
) 1 ] ! Alumina cup gas lens XL GR6 Alumina cup GREXL TIG3-20-25
T sne-zeune o §16-24UNF n | S16-24UNF n o SE-24UNF o ezaunE S7TNTS IRAH) B GRE 10 T98F77 PENE ¥ GREXL/ TIG9-20-25 10
1BFO080-10 IcFocoe0s WE & iaFooos-os 4 & 1aFoo0s-0s 8 & 1GFO008-05 “ e Alumina cup gas lens XL GR8 Callet ® 0.5mm gas lens TIG24- 24W
1 LE 2 i 4 3B-24UNF 1 9{16-18UNF 1 : AHE-TBUNF 1 = g 57TNT4 mAH =EW GRS 10 53N62 BALS ® 0.5mm/TIG24- 24W 10
18 ; b e o e e ! Alumina cup gas lens XL GR10 Collet @ 1.0mm gas lens TIG24- 24W
s e s e D T I, . ; ] i SINBB o myE vk GR1O 10 SINB3  gip 2 © 1.0mmITIG24-24W 10
] 1
d i ! ! 1 Alumina cup gas lens XL GR12 Collet © 1.6mm gas lens T1G24- 24W
1GS0020 IGs0027 1GS0026 1650028 : ! | 53NB7 kM ZwEW GR12 10 53N64 BERR © 1 6mmITIG24- 24W 10
1 T T 1
! l ! I Alumina cup gas lens XL GR15 Collet @ 2.4mm gas lens TIG24- 24W
' ' 2 : ! 1650076 1850077 1GS0Te 1650078 53N89 AR ZE® GR15 10 24GLC332 BB © 2 4mm/TIG24- 24W 10
! ! Alumina cup GRA4L T1G9-20-25 Collet © 0.5mm TIG3-20-25
00 etz e o133 ! ! ' ' '; l E] I T96FT1 ik i GRALITIGO-20-25 10 18N20  gipw o0 5mmITIGY-20-25 i
X : e i L o 796E72 Alumina cup GR5L TIG8-20-25 i 13N21 Collet @ 1.0mm T1G3-20-25 -
1680028 L i MpEmm GR5LUTIGY-20-25 AR % O 1.0mm/(TIGE-20-25
1
! i Alumina cup GREL T1G9-20-25 Collet © 1.2mm T1G9-2 0-25
. '{ | L . TOSFT3 gt s GRELITIGY-20-25 i 7010254 ginm ¢ 1.2mmiTIGe-20-25 14
i 1 ! s
_____________________________________ IPE—— 1eS00de — ——— — - 706F70  ‘dumina cup GR3L TIGS-20-25 10 13N22 Gollat & 1.6mm. 1168 21020 10

i P % GR3LITIGS-20-25 ER% 0 1.6mm/TIGY-20-25

! E 7, ] T
IGS0067 IGS0068 120069 IGS0065 IGS0061 1550062 v A w Alumina cup gas lens GRS TIG24- 24W Collet @ 2.0mm TIGS-2 0-25
- t = e @ \ B a & SINGISXL  mat i GRE/TIG24- 24W 4 TO0BBWT s o 2.0mm/TIGE-20-25 g
T a ‘ PES D8 09.5‘ @11 S12.5 i

Alumina cup gas lens GR8 TIG24- 24W Collet ® 2.4mm TIGS-2 0-25

e £, s SSNBTSL  pgszak o GREITIG24-24W 18 BN w02 4mmITIGE-20-25 10
@64 @3 3.5 ®12.5 216
— — = i | — Alumina cup gas lens GR4 TIG24- 24W Collet @ 3.2mm TIGS-2 0-25
" s S i 1650056 1680057 1GS0058 1630058 1650055 N 53NSBL RIS B GRAITIG24- 24W 10 13N24 B © 3. 2mm/TIGe-20-25 10
a Alumina cup gas lens GR5 TIG24- 24W Collet @ 0.5mm TIG24- 24W
% 8 SINSSL pgmummg GRS/TIG2A- 24W " SINTS g 3 0 0.5mm TIG24- 24W "
- 2
Alumina cup gas lens GRE TIG24- 24W Collet @ 1.0mm TIG24- 24W
s N Ty it ol SNGOL e v GRE/TIG24- 24W 3y 53N16 gm0 1.0mmITIG24- 24W 10
[ — i ey [ |
P ik ! il 1630608 s3ngiL  Alumina cup gas lens GR7 TIG24- 24W 10 S Collet © 1.6mm TIG24- 24W o
1GS0091 1GS0082 1GS0093 1GS0094 1GS0050 MRS W GRTITIG24- 24W ERR O 1.6mmITIG24- 24W
1GS0600 IGS0GE0G 1380607 58060

Alumina cup GR8 TIG9-20-25 Collet © 2 4mm TI1G24- 24W

13N12 - gt o CR8ITIGE-20-25 i 24GLC332  ginsy ¢ 2 Amm/TIG24- 24W 10
Alumina cup GR10 TIG8-20-25 Collet @ 0.5mm TIGS-20
' 13N13 g GR10/TIGY-20-25 10 13N20L im0 0 5mmITIGO-20 10

[:x]

Alumina cup GR7 TIG9-20-25 Collet ® 1.0mm T1G9-20

E]
B
255 .

e I % GR7/TIG-20-25 10 1BN21L G o 1 omm/TIGS-20 10
@2 @25 @55 o6 ) s sizs B Alumina cup GR4 TIGS-20-25 Collet ® 1.6mm TIGI-20
o il 13NOB WIS % GR4/TIGE-20-25 10 13N22L BHRER O 1.6mmITIGS-20 10
Alumina cup GR5 TIG3-20-25 Collet @ 2. 0mm TIGS-20
m Description m - Description m 13NO9 pgsnt o GRSITIGS-20-25 A BBNZIML gipss @ 2.0mm/TIGS-20 i
Alumina cup GRE TIGS-20-25 Collet @ 2.4mm TIGS-20
— Collet body gas lens © 0.5mm T1G24- 24W - 7010275 Collet body ® 1.2mm T1G8-20-25 13N10 MR 5 it i gt 10 13N23L wipm @ 2 4mmiTiGe-20 10
SEE BE © 0.5mmITIG24- 24W BRE E o 1. 2mm/TIG-20-25 Alumina cup GR3 TIG24- 24W Collet © 3.2mm TIG9-20
AEV43 Collet body gas lens @ 1.0mm TIG24- 24W 1 13Nz7 Collet body ® 1.6mm TIGE-2 0-25 o 53N23 RIS Gpﬂg,T,GZ4_24w 10 13N24L  pinw &3 ommiTIGe-20 10
CHIE IR T ISR 2 SREWD1 OMINCIoD I Alumina cup GR4 TIG24- 24W Short back cap TIG9-20-25
45V43 Collet body gas lens @ 1.6mm TIG24- 24W W 7067wt Collet body ®2.0mm TIGE-20-25 o 53N24 M T GF;MITIGN— 24W 10 41va3 5 gg,rn(;g.zpﬂ.gﬁ 10
SEE Bk 0 1.6mmITIG24-24W % O 2. 0mm/TIG-20-25 e e T
T Collet body gas lens @ 2.0mm TIG24- 24W o tahoa Collet body © 2.4mm TIGS-2 0-25 - 53N25 RIS Gﬁzsmex-z.{w 10 41v24 *%sﬂmsg_gﬂ_% 10
SE;E B © 2.0mm/TIG24- 24W e E O 2 4mm/TIGI-20-25 Alumina cup GR6 TIG26- 24W Medium back cap TIG8.20-25
45v4d Collet body gas lens @ 2.4mm TIG24- 24W 10 13N26 Collet body © 3.2mm TIGS-20-25 10 53N27 PETE 1 GRE/TIG24- 24W 10 41V35 il /TIG9-2 0-25 10
SEE B ©2.4mmITIG24-24W sk O 3 2mm/TIGI-20-25 A R SR T
AovAn Collet body gas lens ® 3.2mm TIG24- 24W o SANT Collet body ® 0.5mm TIG24- 24W 0 53NSBXL g e GpRimGN, 24W 10
SEE 36 © 3. 2mm/TIG24- 24W SR E O 0 5mm TIG24- 24W e ] DA
13N25 Collet body © 0.5mm TIG9-20-25 10 53N18 Collet body © 1.0mm TIG24- 24W 10 S3NSIXL s GpR%fTIGZ-ﬂ-ZliW 10
S 2E O 0.5mm/TIGI-20-25 AR RE O 1 0mm TIG24- 24W i s AT
Collet body ® 1.0mm TIGE-2 0-25 Callet body ® 1.6mm TIG24- 24W 53NBOXL R et ’ 10
13N26 y 10 53N19 y 10 BN B GRE/TIG24- 24W

Bk B © 1.0mm/TIGI-2 0-25 HBR% E O 1.6mm TIG24- 24W

-65 66-

Note: about the registered trade mark,reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand



-67

Ed
1GU0007-05
|
|
|
\
IGKDOSE |
1
1
1
3(8-32UNF
0
& 1GFO007-00
3/8-24UNF

1GS00ET 1GS0068 1GS0068

i

@8 T lw 8 | ©8.5
IGS0065 1GS0061 1GS0062
" GJ
=
D11 @125 @‘1 i}
i =
I
I
I
IGS0007 IGS0008 1GS0009

©6.5
—

IGS0040  1GS0046 1GS0047 1GS0048
8.5 @8 09 5 ¢‘| 1
— —

[

CONSUMABLES TIG

17-18-26 Biatk (€ meomr

AB-32UNF

13132-16UNF
IGFO006-05

G5

—
1GS0026

IGS0001 1GS0002

d}|2 5 ma

IGS0049

T8

IHJ0011 1HJ0051 IHJ0012
1GU0006-05 o
: 2
- 1GK0005
|
|
|
A/B-32UNF
]
116
IGF0002-05
1
1
1
___________________ .
I
1GS0027
1GS0029
. ;1
aa 125
1G50028
-]
-
18,5
—

IG50088

@11

1GS0031

©8.5

1GS0034

l’ IGKDO0E
3/8-32UNF

3/4-18UNF
IGFO001-10

@8 ©G.5

IGS0085 1G50081

1B

125 9195
—

1Gs0032 1GS0033

' ' w
-
P8 ©0.5

CRot. | Deseription ———Jpack

4529

45V24

45V25

TOOGBOWT

45V26

4527

45V28

45V0204

45V1186

45V64

995785

45V63

10N29

10N30

10N31

TOOG4WT

10N32

10N28

406488

30126

17CB20

54NE3

18CG

54N01

18CG20

10N46

10N45

10N44

10N47

10NS0

10N49

10N48

5TNTS5

57TN74

53NB8

53NET

53N89

Note: about the registered trade mark,reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand

ONSUMABLES TIG

17-18-26 B inff

2| C€ moora7 @©

Collet bedy gas lens © 0.5mm TIG17- 18-26
SEEE & 00.5mm/TIGIT-18-26
Collet body gas lens @ 1.0mm TIG17- 18-26
SEEE &0 1.0mm/TIGIT-18-26

Collet bedy gas lens @ 1.6mm TIG17- 18-26
SEEE & 0 1.6mm/TIGIT-18-26

Collet bod y gas lens © 2.0mm TIG17- 18-26
SEEE & 02.0mm/TIG17-18-26

Collet body gas lens © 2. 4mm TIG17- 18-26
SEEEEO24mm(TIGIT-18-26

Collet body gas lens @ 3. 2mm TIG17- 18-26
SEEE & ©3.2mm/TIGIT-18-26

Collet body gas lens @4 0mm TIG17- 18-26
SEEE & 04.0mm/TIG17-18-26

Collet bedy large gas lens @ 1.0mm TIG17-18-26

Ik SE EEE O 1. 0mm/TIG17- 18-26

Collet body large gas lens @ 1.6mm TIG17-18-26

Ik S & O 1.6mm/TIG17- 18-26

Collet body large gas lens © 2 4mm TIG17- 18-26

Ik SE EE O 2 4mm/TIG1T7- 18-26

Collet bedy large gas lens @ 3.2mm TIG17-18-26

TRk SE R O3 2mm/TIG1T- 16-26

Collet body large gas lens © 4.0mm TIG17- 18-26

Ak SE EE 04 0mm/TIG17- 18-26

Collet bedy @ 0.5mm TIG17- 18-26
B RE ©0.5mm/TIGIT- 18-26

Collet body @ 1.0mm TIG17- 18-26
BERE ©1.0mm/TIGIT-18-26

Collet body @ 1.6mm TIG17- 18-26
Bl RE O 1.6mmITIGIT-18-26

Collet body @ 2.0mm TIG17- 18-26
Bl RE ©2 0mm(TIGIT-18-26

Collet body @ 2 4mm TIG17-18-26
B RE @2 4mm/TIG17- 18-26

Collet bedy @ 3.2mm TIG17-18-26
Bl RE O3 2mmITIGIT-18-26

Collet body @ 4.0mm TIG17-18-26
AR RE ©4.0mm/TIG1T-18-26

Collet body @ 4. 8mm TIG17- 18-26
B RE 04 8mm/TIGIT-18-26

Collet body @ 24. 5mm TIG17- 18-26
B RE O 24 5mm(TIG1T- 18-26

Large gas lens Insulator torch body TIG17- 18-26

MK sk e WRITIG1T- 18-26

Insulator torch body TIG17- 18- 26

ik Hhig MTIGIT-18-26

Insulator torch body gas lens TIG17- 18-26
ik Hhig MRTIGIT-18-26

Insulator torch body gas lens TIG17- 18-26
ik hig mTIG1T-18-26

Alumina cup GR8 TIG17- 18-26
M s GRBITIG17-18-26

Alumina cup GR10 TIG17-18-26
g W GR10/ TIG17- 18-26

Alumina cup GR12 TIG17- 18-26
Mg EE GR12/ TIG17- 18-26

Alumina cup GR7 TIG17-18-26
M s GRT/TIGT-18-26

Alumina cup GR4 TIG17- 18-26
& mW GRA/TIGIT-18-26

Alumina cup GRS TIG17- 18-26
g El GRB/ TIG17-18-26
Alumina cup GRB TIG17-18-28
g E GR6/ TIG17- 18-26

Alumina cup gas lens XL GRE
Tk Mg W GRE

Alumina cup gas lens XL GR8
In BE rEW GRS

Alumina cup gas lens XL GR10
TNk MiE W GR10

Alumina cup gas lens XL GR12
Nk & W GR12

Alumina cup gas lens XL GR15
Tnk Mg W GR15

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

T A

S4N1TL

54N16L

54N15L

54N14L

10N50L

10N49L

10N48L

10N4TL

10N46L

13N12

13N13

13N11

13N08

13N09

13N10

54N19

54N14

54N18

54N17

54N16

54N15

10N21

10M22

10N23

10N23M

10N24

10N25

54N20

10N218

10N228

10N238

10N23MS

10N24S

10N258

57Y02

57Y04

57Y03

Alumina cup gas lens GR5L/ TIG17- 18-26
fEE Em GROU TIG17-18-26

Alumina cup gas lens GRBL/ TIG17- 18-26
fEE o GRe6L/ TIG17-18-26

Alumina cup gas lens GRTL/ TIG17-18-26
P EmE GRTU TIG17-18-26

Alumina cup gas lens GR8L/ TIG17- 18-26
I s GRBL TIG17-18-26

Alumina cup GR4L/ TIG17-18-26

g E GR4L/ TIG1T7-18-26

Alumina cup GR5L/ TIG17-18-26

g EE GR5L/ TIG17-18-26

Alumina cup GREL/ TIG17- 18-26

g oM GREL/ TIG17-18-26

Alumina cup GR7L/ TIG17- 18-26

Mg mW GRL/ TIG17-18-26

Alumina cup GRBL/ TIG17- 18-26

g M GRBL TIG17-18-26

Alumina cup GRS TIG3-20-25

M3 i GRE/TIGS-20-25

Alumina cup Gr10 TIGS-20-25

fE mw GR10 TIGS-20- 25

Alumina cup GRY TIGY-20-25

fEE o GR7/TIG9-20-25

Alumina cup GR4 TIGS-20-25

P o GR4/TIGY-20-25

Alumina cup GRS TIGS-20-25

P s GRS/ TIGI-20-25

Alumina cup GRE TIGS-20-25

fE%E i GRE/TIGY-20-25

Alumina cup gas lens GR11 TIG17-18-26
Mg s GR11/TIG17- 18-26

Alumina cup gas lens GRS TIG17- 18-26
g s GRB/TIG17- 18- 26

Alumina cup gas lens GR4 TIG17-18-26
g m GR4/ TIG17- 18- 26

Alumina cup gas lens GR5 TIG17- 18-26
g s GRS/ TIG17- 18- 26

Alumina cup gas lens GR6 TIG17-18-26
M3 mi GRE/TIG17-18-26

Alumina cup gas lens GRT TIG17- 18-26
& mW GR7/TIG1T7- 18-26

Collet © 0.5mm TIG17- 18-26

HAR % © 0.5mm/TIG17-18-26

Collet @ 1.0mm TIG17- 18-26

B ® @ 1.0mm/TIG17- 18-26
Collet @ 1.6mm TIG17-18-26

Bl % O 1.6mm/TIG17-18-26

Collet @ 2.0mm TIG17-18-26

B % @ 2.0mm/TIG17- 18-26

Collet @ 2.4mm TIG17- 18-26

il & O 2 4mm/TIG17- 18-26

Collet @ 3.2mm TIG17- 18-26

B % @ 3.2mm/TIG17- 18-26

Collet @ 4.0mm TIG17-18-26

B % ©4.0mm/TIG17- 18-26

Collet @ 0.5mm TIG17- 18-26

B % ©0.5mm/TIG17- 18-26

Collet @ 1.0mm TIG17- 18-26

B % © 1.0mm/TIG17- 18-26

Collet @ 1.6mm TIG17-18-26

B % O 1.6mm/TIG17- 18-26

Collet @ 2.0mm TIG17- 18-26
AR % @ 2.0mm/TIG17- 18-26
Collet @ 2.4mm TIG17- 18-26
B ® @ 2. 4mm/TIG17- 18-26
Collet @ 3.2mm TIG17-18-26
Bl ® O 3. 2mm/TIG17- 18-26
Long back cap TIG17- 18- 26
I IEITIGT-18-26
Shortback cap TIG17- 18-26
HWETIGT-18-26

Medium back cap TIG17- 18-26
1 ETIG1T- 18-26

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

10

68-




CONSUMABLES TIG

12 SmE ¥ C€ momr (@

IHJOE78 . IHJOET9

1610970 n ------ “ IGVO003

1GK0075 ; IGK00T1

IGF0066-16

1GS0883 IGS0684 IGS0690 IGS0696 IGSII'JEQT

I I | I R R R R R R T R R
' ' 1Gs0020 1GS0027 1G50026

©9.5 ©9.5 ©9.5 @95

H = ] i

9.5

i ' ' '
®9.5 ®12.5 @16
— — i

IGS0686  |GSO687 1GSO688 |IGS0689 IGS0685 IGS0681  1GS0682

' ' ' . (B
L &
9.5 9.5
i i

@95 ®9.5 ©9.5
] i —

9.5 ®@9.5
H

-69

Ref.

11GL16
11GL32
11GL18
11GL53
11GL36
WP-12
12GLG
12NG
S57N75
S5TNT4
53N88
53N87
53N89

14N61-10
14NE1-12

14NE8
14NES
14N61
14N5T
14N58
14N59
14NEB0
14N70
14NT1
14NT72
85Z14
85Z15
85216
85Z17
85718
85219

85WP13

56Y44
56Y45

Note: about the registered trade mark,reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand

ONSUMABLES TIG
UCEnon @ 12 BiRk

Description

Collet Body gaslens ® 1.6 TIG12; S & E ¢k 0 1.6 TIG12
Collet Bodygas lens @ 24 TIG1Z,SEEEH © 24 TIG12
Collet Body gaslens ©@ 3.2 TIG12; S E % EH 0 3.2TIG12
Collet Body gaslens @ 4.0 TIG12, S EEFHEH 0 4.0TIG12
ColletBody gaslens @ 4.8 TIG12,5SEHEH 0 4.8 TIG12
Torch body, includes nozzle gasket (70°);48 /% 4 B E/T70°
gas lens insulator TIG12; S B E B AR EME TIG12

Nozzle gasket; {8 &

Alumina Cup gas lens XL GR6;)N &gas lensF M E 8% GRE
Alumina Cup gas lens XL GRS, X gas lensH M &EEW GRS
Alumina Cup gas lens XL GR10;InXgas lensAMEHEW® GR10
Alumina Cup gas lens XL GR12;InXgas lensFME®EWH GR12
Alumina Cup gas lens XL GR15 short; Il kgas |ens i B £ 1 W/ 7
Alumina cup/GR10 TIG12;HM EIEM/GR10 TIG12

Alumina cup/GR12 TIG12,M B MEM/GR12 TIG12

Long alumina cup TIG12; &M EE® TIG12

Long alumina cup TIG12;In&MZEEM® TIG12

Alumina cup/GREB TIG12; M EHEM/GRE TIG12

Alumina cup/GR4 TIG12: M BB H/GRA TIG12

Alumina cup/GR5 TIG12;M £ M MIGR5 TIG12

Alumina cup/GRE TIG12;Mi BB H/GRE TIG12

Alumina cup/GR7 TIG12; My ZEHEM/GRT TIG12

Long alumina cup TIG12; €M ZEEMH TIG12

Long alumina cup TIG12; &M EEH® TIG12

Long alumina cup TIG12; N &M EEMH TIG12
Collet®1.6TIGIZEBR O 1.6TIG12

Collet® 2.4 TIG12;H % © 2.4 TIG12

Collet®@ 32TIG1ZEEM K ©3.2TIG12

Collet @4 0TIGI1ZEHM K D 40TIGI2

Collet® 4 8TIG12ZE K ©4.8TIG12

Collet @6 4TIG12; B D6 4TIGI2

Handle TIG12;F4# TIG12

Long back cap, includes O-ring; @ H 08 E

Short back cap, includes O-ring; 58 @ H 08 M

70-



CONSUMABLES TIG

12 SmE ¥ C€ momr (@

IHJOBTT

7 3
IGZ0980  IGZ0886

7™ 3"
IGUOBED-10  IGUDGEE-10

1
1GK0073 T iekoor2
‘ i
_______________________ i S g T e g
|
1
]
]
1
e A ,
! i -
I | 1
| ] 1
5/16-24UNF 5/16-24UNF
5/16-24UNF o -
& IGFODDB-05 & |GFO005-05 b
IGFO060-10 c ; 3/8-24UNF H 9/16-18UNF
H f n
1 1
1 1
118 1 i
t |
1 1 !
' 1 1
e e e e S, bt et o
' 1 : :
1680020 IGs0027 1GS0026 1680028 1 1GS0026 1650037 1650098 1G50099
H 3
1
1
1
1 ©E.5 @8 9.5 o111
o685 @125 D12 «18.5 1 i | — —
— — — — 1
|
1650029 !
J 1
1
1
| 1
1
1
'
_____________________________________________ e e e e — —  — — m——mmm—— =
i
1GS0045 1GS0041 1GS0042 1GS0043 IGS006T 1G50068 IGS006Y9 1GS0065 1680061
o
' ¥
E | |
6.4 @8 ©O.5 @i ©12.5
! ] — — e [ —
o4 @85 8 D5
— [ == — 1GS0608
1GS0600 1GS0B06 IGS0607 IGS0608
&
2
(<) D35 o8 ©a.5 D85

-71

]
1GB0085

Ref.

45V42
45V43
45V44
45V45
13N26
13N27
13N28
13N29
45V02043
45V1168
45V648
9957958
22-10
54N63-22
STNT5
STNT4
53N88
53N87
53N83
T96FT1
T96F72
T96F73
T96FT0
13N12
13N13
13N08
13N09
13N10
13N11
S53NE1S
53N58
53N59
53NE0
53NG1
T96F74

-, 796F75

T96F76

= 796F77
u P 22N21AL
) 22N22AL
= 22N23AL
22N24AL
22N21A
22N22A
22N23A
22N24A
A WP-22A
WP-228

22-7

Note: about the registered trade mark,reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand

ONSUMABLES TIG

12 Hiaff

¥/ C € avomrss

Description

Collet Body gas lens ©@ 1.0 TIG22-24-24W; SEFH1E{k © 1.0 TIG22-24-24W
Collet Body gas lens @ 1.6 TIG22-24-24W; S 2 ¥4 © 1.6 TIG22-24-24W
Collet Body gas lens © 2.4 TIG22-24-24W. S E 1Bk © 2 4 TIG22-24-24W
Collet Body gas lens @ 3.2 TIG22-24-24W, S E ¥ EH © 3.2 TIG22-24-24W
Collet Body © 1.0 TIG9-20-22-25; 85 #i & © 1.0 TIG9-20-22-25

Collet Body © 1.6 TIGS-20-22-25;F #l £ & © 1.6 TIG9-20-22-25

Collet Body © 2.4 TIG9-20-22-25;8 {i & © 2.4 TIG9-20-22-25

Collet Body © 3.2 TIG9-20-22-25; i £ & © 3.2 TIGY-20-22-25

Extralarge gas lens ® 1.0 TIG9-20-22-25; M A S EE ik © 1.0 TIGI-20-22-25
Extralarge gas lens © 1.6 TIG9-20-22-25; Ik S E % E# © 1.6 TIGI-20-22-25
Exlra large gas lens © 2.4 TIG9-20-22-25;In A S E ¥ £ 5 © 2.4 TIG9-20-22-25
Extra large gas lens ©® 3.2 TIG9-20-22-25; MK S E % E#* © 3.2 TIG9-20-22-25
Insulator torch body TIG22;#f: sk i & i TIG22

Gas lens insulator TIG22;5 % % 1% {5 1518 TIG22

Alumina Cup gas lens XL GRE; /i Xgas lensF M EHEH GRE

Alumina Cup gas lens XL GRB; I *gas lensF M ZE W GRS

Alumina Cup gas lens XL GR10;/inXgas lensFE M EEH GR10

Alumina Cup gas lens XL GR12;/nXgas lensF M £ EW GR12

Alumina Cup gas lens XL short; il Zgas lens i [ 3 0 G &

Alumina Cup GR4L TIGS-20-22-25{c M) EHE MW GR4ALTIG9-20-22-25

Alumina Cup GR5L TIG9-20-22-25; € M E MW GR5L TIG9-20-22-25

Alumina Cup GRBL TIGS9-20-22-25 M EFE MW GRELTIGI-20-22-25

Alumina Cup GR3L TIGS-20-22-25, - M EFH M GR3LTIG9-20-22-25

Alumina Cup GR8 TIG9-20-22-25, M) %1% GRS TI1GI-20-22-25

Alumina Cup GR10 TIG9-20-22-25 9 £ B W GR10 TIG9-20-22-25

Alumina Cup GR4 TIG9-20-22-25;M &M% GR4 TIG9-20-22-25

Alumina Cup GRS TIG9-20-22-25;M £ M GRS5 T1G9-20-22-25

Alumina Cup GRE TIG9-20-22-25, M 11§ GR6 TIGI-20-22-25

Alumina Cup GR7 TIGS-20-22-25,/ &M GR7 TIGI3-20-22-25

Alumina Cup gas lens GRB TIG22-24-24W;gas lensF fi ZE M GRA TIG22-24-24W
Alumina Cup gas lens GR4 TIG22-24-24W;gas lensE M EE 1 GR4 TIG22-24-24W
Alumina Cup gas lens GRS TIG22-24-24W;gas lensFA M E B K GRS5 T1G22-24-24W
Alumina Cup gas lens GRE TIG22-24-24W:gas lens A M E M GRE TIG22-24-24W
Alumina Cup gas lens GR7 TIG22-24-24W;gas lensf M £ GR7 T1G22-24-24W
Alumina Cup GR3 XL TIG9-20-22-25 43 ) £ EW GR3IXLTIGY-20-22-25
Alumina Cup GR4 XL TIG9-20-22-25 $  E1HM GR4XLTIGI-20-22-25
Alumina Cup GR5 XL TIG9-20-22-25 43 M £ W GR5XL TIG9-20-22-25
Alumina Cup GRE XL TIG9-20-22-25 &M EHEMW GREXLTIGI-20-22-25

Collet ® 1.0mm TIG22 7";# i % & 1.0mm/TIG22 7"
Collet® 1.6mm TIG22 7" B % & 1.6mm/TIG22 7"
Collet® 2 4mm TIG22 7" % @ 2 4mm/TIG22 7"
Collet® 3.2mm TIG22 7"E % © 3.2mm/TIG22 7"
Collet® 1.0 TIG22 3", & © 1.0 TIG22 3"
Collet® 1.6 TIG22 3" % © 1.6 TIG22 3"
Collet® 2.4 TIGZ2 3" B = © 2.4 TIG22 3"
Collet®3.2TIG223" MK O3 2TIG22 3"

7"long torch body; 7 "4

3"long torch body; 3"t &

Collet knob, includes O-ring:FE AR HOR B

12-



CONSUMABLES TIG CONSUMABLES TIG

2F WNE: e R YCEmom @ 27 Biafk

Ref. Description
181W89 O-ring; O
49v22 Collet Body gas lens @ 1.0 TIG27, S £ & E{& © 1.0 TIG27
49v23 Collet Body gaslens @ 1.6 TIG27; S EEE{k © 1.6 TIG2T
49v24 Collet Body gaslens © 2 4 TIG2T7; S EE#E{E © 2.4 TIG27
49V25 Collet Body gas lens @ 3 2 TIG27, S EFE# 0 3 2 TIG27
49V26 Collet Body gas lens @ 4. 0 TIG27, S E EE 0 4.0 TIG27
49v27 Collet Body gaslens @ 4 8 TIG2T, S EHEH 0 4.8 TIG27
49v28 Collet Body gaslens © 6 4 TIG2T, S EEEiE 0 6.4 TIG27
WP-27B Torch head TIG27 20" ;TIG#: L TIG27 20"
WP-27A Torch head TIG27 8" ;TIGH#: <k TIG27 9"
57N56 Gasket;$2 8
57N75 Alumina cup gas lens XL GRE; /M X gas lensH M £ GR6
A ¥ 57TN74 Alumina cup gas lens XL GR8; M Xgas lensF M B GR8
IGIDa80  Ieineea 53N88 Alumina cup gas lens XL GR10;/0 Xgas lensAMEHER GR10

53N87 Alumina cup gas lens XL GR12;Ja Xgas lensH M EEMWH GR12
53N8O Alumina cup gas lens XL short; it g as lensF P 2 55 W/ 5
57TN45 Collet®@ 1.0 TIG27, Bl % © 1.0 TIG27
57N46 Collet® 1.6 TIG2T; B £ © 1.6 TIG27
57N4T Collet® 2.4 TIG2T; B % © 2.4 TIG27

| 57N48 Collet ® 32 TIG2T; & © 3.2 TIG27

i 57N49 Collet @4 0TIG2T; % 0 4.0TIG27

! 57TN50 Collet® 4 8TIG2T; % © 4.8 TIG27

i 57N51 Collet® 6.4 TIG2T; B % © 6.4 TIG27
45V 11 Power cable adaptor; & i iE L 8%

IGUO0E0-10

—— | CT0GO

|GFOOGB-10
I
I
1
1
i
— i < IGK0oOT4 1ZFO0S0

I
1
1
1
1
1
1
1
1

i, B e R i B R S R P S

1

! 1

IGS0020 GS0026 1GS0027 1GS0028 1650029
ow
= -
©12.5 ©18.5 o
A A —

- 7 3 Note: about the registered trade mark,reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand 74 =




T
'h IHJ0559

TORCH HANDLES F#

2/ C € mownr @

IHJ0582

IHJO557 iHao115 IEHEE

IHJ0583

IHJ0558 Hao111 (ENEEE

IHJ0586

Hao112 [FEE

IHJ0584

IHJO555 Haot1s I

h - | 1HJ0D32  1MJ0B18

1GV0685

HJOTT8
h s m
IFT0853

IHJ0808

d

-75

IHQDO0E

IHQooo7?

IHJO818

v, D
IHJ0805 1HJ0201

IHQO175 IHQO171

IHJ0880 IHIDE67
IHJ0886 IHJDE88

® IGVDD40 @ IGV0D4T
® |Gvoo4e ®IGVDD4B

IFT0874

1GVO00g

"\

1HJ0013

IHQO030

Ref.

SW-1F

Description

Screw 3x8mm

48 #43x8mm

Handle TIG18-26
EEFHTIG18-26

Handle TIG9-17
HEFMTIGI-17

Ergotig handle Grey

RETIGF W&

Ergotig handle Blue
RETIGFWEER

Ergotig handle Red
RETIGFHAL &

Ergotig handle Black
RETIGFHME

Ergotig handle Grey/Black/grip
RETIGF IR &R &I B
TIG guns with the tail switch button
TIGKEF xR

Closing ring for tig handle
TIGF Y REF

Cover for tig handlel with potentiometer
FIRF R B S

Cover for tig handle/single
FHEAXZEFX

Cover for tig handle/dual
FHEAXZBUWAX

Cover for tig handle/four
FHAXBMAX

Push button for tig handle/single
TIGFEWFXEHEFX

Push button for tig handle/dual
TIGFWA L EEMIF %

Push button for tig handle/=ingle switch and potentiometer
TIGERA R/ AR L REHE
Joint for tig handle
TIGFEWARL

Doubletig switch Red

TIGHF E I &

Sintig switch Orange
TIGEFEEHEE

Reduction for TIGS-17
EERITIGI-17

Small spring support for TIG 9-17-20
R I TIG9-17-20

Big spring support for TIG 9-17-20
KERITH TIG9-17-20

Small joint TIGS-17-20
ERTITIGI-17-20

Big joint TIG18-26
KEEBITIG18-26

Small spring support for TIG9-17-20
R L ITIGI-17-20

Big spring support for TIG18-26
KEREMTIGI8-26
Small TIG joint
TIGH BT 8 )

Big TIG joint

TIGRHHRT EHX

Push button for tig handle/four
TIGFEWA X EEMF X

Set for four swtiches/orange
EREHMAXER
Microswitch TIG
TIGRS A MahFF %
Microswitch TIG

%

Connector for SW1
HEEMRASW1

Dual switches with PCB
TIGR M F X EEHE

Four switches with PCB
TIGAMA L&EEE
Single switches and potentiometer with PCB
TIGR 2 %8 i i iR
Single switch with PCB
TIGR® FkmE
Single switches with pch
TIGRHEF X (S HhEE
Double switches with pch
TIGRAUF X (THRER

TORCH HEADS #€3k

Type

TIG9

i

1HJ0017 IHJOO16
TIG17

TIG18

TIG 20

TIG 24

TIG 25

TIG 26

More water cooled system [jr!r =

410Amp

Note: about the registered trade mark,reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand

WP-9F

WP-9V

WP-9FV

WP-9P

WP-17

WP-1T7F

WP-17V

WP-17FV

WP-17P

WpP-18

WP-18V

WP-18F

WP-18FV

WP-18P

WP-20

WP-20V

WP-20F

WP-20P

WP-24W

WP-24WF

WP-24

WP-24F

WP-25

WP-26

WP-26F

WP-26V

WP-26FV

WP-26P

V5-2

V5-1

Torch Head TIGS
TIGY #3k

Torch Head TIG3 Flex

TIGY FEitirsk

Torch Head With Valve TIG9
TIGY #k/m I

Torch Head With Valve TIG9 Flex
TIGS Fftdek/Hm @I

Auto Torch Head TIGS

TIGY Eahitsk

Torch Head TIG17

TIG1T #sk

Torch Head TIG17 Flex
TIGIT FEf#esk

Torch Head With Valve TIG17
TIG17 4L

Torch Head With Valve TIG17 Flex
TIGTT FAEHE 2 A ]

Auto Torch Head TIG1T
TIG17 BEh#rk

Torch HeadTIG18

TIG18 ek

Torch Head With Valve TIG18
TIG18 sk

Torch Head TIG18 HC

TIG18 g ik/HC

Torch Head TIG18 Flex
TIG18 4tk

Torch Head With Valve TIG18 Flex
TIG18 £ 4 HEIN

Auto Torch Head TIG18
TIG18 Hahtsk

Torch HeadTIG20

TIG20 sk

Torch Head With Valve TIG20
TIG20 L7

Torch Head TIG20 HC

TIG20 #&ik/HC

Torch Head TIG20 Flex
TIG20E ML

Auto Torch Head TIG20
TIG20 Hahiesk

Torch Head TIG24W
TIG24W #r ik

Torch Head TIG24 W Flex
TIG24W FEfEitsk

Torch Head TIG24

TIG24 #sk

Torch Head TIG24 Flex
TIG24ZE ik

Torch Head TIG25

TIG25 #sk

Torch Head TIG26

TIG26 #k

Torch Head TIG26 Flex

TIG26 Ttk

Torch Head With Valve TIG26
TIG26 ¥ LB

Torch Head With Valve TIG26 Flex
TIG26 FAEHE & 1]

Auto Torch Head TIG26

TIG26 HEhik

Valve TIGS/17
807 TIGaNM7

Valve TIG26
7 TIG26

) C € eneosra7 (@

Description m

1

716-




3/8" 24 UNF TIG 917124
5/8" 18 UNF TIG 26

Tig 9/17/24 - 2wires Tig 26 - 2wires
Threading L (m} Code Threading L(m) Code
4 IGN0091 4 IGND093
Mzt 8 IGNDD92 M2 8 IGND094
EG 4 IGNOG658 386G 4 IGNOE5S
8 IGNOB59 8 IGND851
Tig 9/17/24 - Awires Tig 26 - 4wires
Threading L {m) Code Threading L(m) Code
4 IGNOB16 4 IGNDB18
MtZxs 8 iengstz ! 8 IGND619
38" 24 UNF TIG 9/17/24
5ig" 18 UNF TIG 26
Tig 9/17/24 - 2wires Tig 26 - 2wires
Threading L (m) Code Threading L{m) Code
4 IGNB0ST 4 IGNB093
M12x1 8 Ienepsz M1 8 IGN6D94
Tig 9/17/24 - 4wires Tig 26 - 4wires
Threading L(m) Code Threading L (m) Code
4 IGNB616 4 IGNBG18
M12x1 8 |GNesi7 M1 8 IGNBE19
3/8° 24 UNF TIG 9/17/24
5/8° 18 UNF TIG 26
Tig 9/17/24 - Awires Tig 26 - 4wires
Threading L(m) Code Threading L (m) Code
4 IGNT626 4 IGN7628
Mz B IGN7e27 M1 8 IGN7629
Tig 9/17/24 - Bwires Tig 26 - Bwires
Threading L (m) Code Threading L(m) Code
4 IGNTB16 4 IGN7618
Mz g IGN7e17 M1 8 IGN7619

77

AIR COOLING CABLES

Semal ¥ (€ meorr @©

Compl ete outer cover 4m M12x1/TIGS- 17-24/2 control wires
Bl SR/AmI M2 x 1 TIGO- 17- 24/ 7 153 8

Compl ete outer cover 8m M12x1/TIGS- 17-24/2 control wires
AL 4R/Bm/ M2 x U TIGY- 17- 24/ =7 4251 &

Complete outer cover4m M12x1/TIG26/2 control wires
L ERMAM/MA2x UTIG26/ 2 2 5] 4%

Complete outer cover 8m M12x1/TIG26/2 confrol wires
B ERIBM/M 12X UTIG26/Z 2 6l 4%

Compl ete outer cover 4m M12x1/TIGS- 17-24/4 control wires
B ARMAmI M2 x 1 TIGS- 17-24/ M3t 1251 &

Compl ete outer cover Bm M12x1/TIGS- 17-24/4 control wires
i 4R/8m/ M12x 1 TI G- 17- 24/ 1075 455 &

Complete outer cover4m M12x1/TIG26/4 confrol wires
LA EA/AMIMA 21 TIG26/09 5 855

Complete outer cover 8m M12x1/TIG26/4 control wires
L4 EA/BmMIM A 2X 1/ TIG26/P0 it 125 &%

Complete outer cover 8m 3/8G/TIG26/2 control wires
B ERI8mI3/8GITIG26/Z 2 Hl 48

Complete outer cover 4m 3/8G/TIG26/2 control wires
B 4 EH/4m/3/BGITIG2E/Z i {85

Complete outer cover4m 3/8G/TIG9-17/2 control wires
B ER/Am/ 3IBGITIGE- 1T/ B Fl ik

Complete outer cover 8m 3/8GITIG9-17/2 control wires
4 ER/8m/ 3/BGITIGI-1T/I= RS iS4

Complete outer cover 4m M12¢ 1TIG3-17-2412 control wires/le ather tube
BHEAMMI2TIGHT-4IZ B S S P E

Complete outer cover 8m M12x 1TIG3-17-24/2 control wires/le ather tube
B EAMMI 2 TIGH-1T-4IZ S B E

Complete outer cover 4m M12x1/TIG26/2 control wiresie ather tube
BHEAMMI2XITIG 26 Z Rl SR 4P B

Complete outer cover 8m M12x1/TIG26/2 control wiresfle ather tube
BHEEMMI2x1TIG26/= B 128 IR P E

Complete outer cover 4m M12x 1ITIGS-17-24/4 control wires/leather tube
B EAMMI 2TIGH-17-24/M B S S P E

Complete outer cover 8m M12x1(TIG3-17-24/4 control wires/le ather tube
BHEBmMI 2 TIGH-T-4M T S S E

Complete outer cover 4m M12x1/TIG26/4 control wiresile ather tube
AHEAMMI2X1TIG26/M B I P E

Complete outer cover 8m M12x1/TIG26/4 control wiresile ather tube
L AAIBMMIZX1 TIG26/M 28l B 4P B

Complete outer cover 4m M12x1/TIGE-17-24/8 confrol wires/leather fubelsilicon
AREAMMIZATICHT- MR R P B R E

Complete outer cover Bm M12x 1TIGS-17-24/8 control wires/leather fubelsilicon
AREEMMI2ATICHT- MR EHR R P BN E

Complete outer cover 4m M12x1/TIG26/6 control wires/leather ube/silicon
BRAEmMIZATIGHRERNRE P EREE

Complete outer cover Bm M12x1/TIG26/6 control wires/leather ube/silicon
ARABmMIZATIG2ER S EHRE P E RN E

Complete outer cover 4m M1 2 1/TIGE-17-24/2 confrol wires/leather fubelsilicon
AREAMIZATIGHT- I R P B E

Complete outer cover Bm M12x1/TIGS-17-24/2 confrol wires/leather fubslsilicon
R EAMNIZATIGHT-24IZ MR E P BN E

Complete cuter cover 4m M12x1/TIG26/2 contrel wires/leather ube/silicon
BREUMMIZATIG2EIZ S R PEENE

Complete outer cover Bm M12x1/TIG26/2 control wires/leather tube/silicon
BHREABmMIZTIGIZE BN M PERNE

POWER CABLE

m

—_

3/8 24 UNF TIG 9/17/24
5/8 18 UNF TIG 26

AIR COOLING CABLES

TIG 9/17/24 TIG 26
Threading L{m) Code Threading L(m) Code
4 IGNO005 4 1GNO002
M12x1 8 ieNoopr 1! 8 IGNO003
4 IGN0E94 4 IGNOB56
e 8 IGNosso /%G 8 IGNOB5T
3/8 24 UNF TIG 9/17/24
5/8 18 UNF TIG 26
TIG 9/17/24 TIG 26
Threading L (m) Code Threading L(m) Code
4 IGND005-01 4 IGNO002-01
M2 8 IGNoogior M 8 IGN0003-01
PIECE

TIG 9/17/24 - 3/8-24

TIG 9/17/24 - 3/8-24RH

TIG 26 -5/8-18 TIG 26 - 7/8-14RH

TIG 917124 TIG 26

L (m) Code L (m) Code

4 IGNOOT 4 IGNOG76

] IGN0012 8 IGNODS0
2 FIECE

G P

TIG 917124 - 3/8-24 5/8-18RH

TIG 26 -5/8-18

TIG 917124 TIG 26

L (m) Code L(m) Code

4 IGN0050 4 IGNOD57
8 IGN0056 ] IGNOD58
TIG 9/17/24 - 3/8-24 5/8-18RH

TIG 26 - 5/8-18

TIG 917124 TIG 26

L (m) Code L (m) Code

4 IGN0059 4 IGNOD53
8 IGN0055 8 IGNDD54

2| C€ enoosrar

Neos7a7 () &

Power cable/gas 8m M12x1 TIGS-17-24
SHE 8m MI12x1/TIGI-17-24

Power cable/gas 8m M12x1 silicon TIGS-17-24
SHEE Bm MI2xUTIGS- 17-24/ 08 &

Power cable/gas 4m M12x1 TIG26
SHEE 4m M12x1/TIG26

Power cable/gas 4m M12x1 silicon TIG26
S E 4m M12x1UTIG26/ EERE &

Power cable/gas 8m M12x1 TIG26
SHEE 8m M12x1TIG26

Power cable/gas 8m M12x1 silicon TIG26
SEE Bm MI2x1TIG26/ R &

Power cable/gas 4m M12x1 TIGS-17-24
SHEE 4m MI2x1TIGS-17-24

Power cable/gas 4m M12x1 silicon TIGS-17-24
SHEE 4m MI2xUTIGS- 17-24/ 8 &

Power cable/gas 4m TIGS-17 USA
SHEE AWTIGH17/%R

Power cable/gas 8m TIGS- 17 USA
SHEE mTIGH17/IER

Power cablelgas 4m 2 pieces TIGS- 17 USA
Hi _ﬁiﬁﬁ‘hﬁi AmiTIGS- 171 £ 51k

Compl ete outer cover 4m TIG26 USA
HH 4 Ami TIG26/ =5 &

Compl ete outer cover 8m TIG26 USA
it BV TIG26/ 250, 4tk

Compl ete outer cover 8m TIGS-17- 24 USA
B 8mi TIGS-17-24/ £ &

Power cable/gas 8m 2 pieces TIGS-17 USA
AR She B TIGS- 17/ &30 i

Power cablelgas 4m 2 pieces TIG26 USA
i AT ShEE An/ TIG2G 250 SHE

Power cable/gas 8m 2 pieces TIG26 USA
B AT ShEE B/ TIG26/ 250 4HE

Compl ete outer cover 4m TIGS-17-24 USA
B AV TIGS- 17-24) =5 41k

Power cable/gas 8m TIG26 USA
SHEE 8m/TIG26/ £50

Power cable/gas 8m 3/8G TIGS-17
S & 8m/ WBGTIGH-17

Power cablelgas 4m 3/8G TIG26
S E 4m/ VBGTI G26

Power cable/gas 8m 3/8G TIG26
S8 8m/YBGTIG26

Power cable/gas 4m TIG26 USA
SHEE I/ TIG26/ £50

Power cable/gas 4m 3/(8G TIGS-17
S E 4m/I8GTIG-17

Note: about the registered trade mark,reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand

1

18-




WATER COOLING CABLES

KALHBMAE v C€ Noosrar

CABLES =4

) C € eneosra7 (@

COMPLETE CABLE GAS CABLE

Descri tion Im' ——
i - ﬂ-‘ 146 n— | 51518 | Ref. Description | Pack |
Compl ete outer cover 8m M12x1 TIG20/ 2 control wires

v 1 - Watertube 4m TIG18 USA
B 8m MI2xUTIG20 /=3 125 & Threading L(m) Code Threading Lim) Code kB AMITIGIBIZES 1
Compl ete outer cover 4m M12x1 TIG18/ 2 control wires
2 1 4 IGNDO41 ¥ 4 IGNO029 Gas tube 8Bm TIG18-20 USA
3/8 28LH-TIG 18 B4 4m MI2XUTIGIBI= i 1281 2 e B IGN0D42 Sre-1e 8 IGND029 & 8mITIG18-20/£ 5% !
Compl ete outer cover Bm M12x1 TIG18/ 2 control wires
s Water tube Bm TIG18 USA
A 4 Bm MI2x1/TIGIB/= % 1551 8 . 1
B BmITIG18/&
Compl ete outer cover 4m M12x1 TIG20/ 2 control wires
SR don MDA C0 It St J WATER CABLE Water fube Am TIC20 USA ;
) ) Complete outer cover 8m M12x1 TIG 18/4 contro| wire s/le ather cover B
TG 18 -2 wiers TIC 184 wiers BHE S MIoX1TI6 DM ERHAE # 1 — | 51c I 51515+ Water tube §m TIG20 USA :
L(m} Code L{m} Code ; TIG 18 | KE Bm E N
Complete outer cover 4m M12x1 TIG 20/4 condro | wires/le ather cover
4 IGNOO17 4 IGNOD15 BUE 4m M12KUTIG20/M 28I ek P 1 Las uibedmilIG I (1SR 1
8 IGN0018 8 IGNDO11 e T e Threading L(m) Code Threading  L(m) Code S 4m/TIG18-20i% 5
omplete outer cover 8m M12x control wire sfle ather cover
§ 1 4 IGNOE09 4 IGNO020 Power cable 4m M12x1 TIG20
fiﬁ!i Sem M;Exh"finGISiffT:?::fxt — 3/8G 3 IGNOBOS 5/8-18LH a \GN0O026 KEH AmIM12x1/T1G20 1
omplete outer cover 4m M12x control wire sile ather cover oz
1 Power cable 4m M12x1 TIG20/silicon
IR 4m MI2X1TIG18/ME BBl R P E I 1
T Am/MI12xUTIG20/REREE
Complete outer cover m M12x1 TIG18/6 control wiresleather cover/silicon 4 q 318G -wwmaw g i ot
BRE Im MIZTIGISR S LR PERRE TIG 20/25/24W = - ;;;cgm.fiﬂ?xﬂﬂgm 1
Complete out Am M12x1 TIG20/6 control wires/lzath fsili b i
S imiBTCRNE RN RRE Ty L _GEE ol 1
4 z X
Complete outer cover 3m M12x1 TIG20/6 control wires/leather cover/silicon 1 318G 3 {gmggg; SiETHLH 8 IGNO028 ::wer cable 4m M12x1 TIG18
& Bm M1ZxTIG20I% i
3/8 28LH-TIG 18 B GmMi2x 2| ;\EE'@J%’E?EEE? . e AmM12x1/TIG18 1
- Complete outer cover 4m M12x1 TIG18/6 control wires/leather cover/silicon 1 Bower cable 4m Mi2x1 TIG18/silicon

BRE dmMITICIBR SR SR PSRN k8 Am/M1ZxUTIG18/REREE

L

Complete outer cover Bm M12x1 TIG18/2 control wires/leather cover/silicon

BRE I MI2ATIGIB- SRS P ERRE 1 P;;gcgbmrg h{'}ﬁﬁg@@w 1
: . 7 m % 1
. . Complete outer cover 4m M12x1 TIG20/2 control wires/leather cover/silicon
TIG 18 - 2 wiers TIG 18 - 6 wiers tiﬁ; Am MI2x1TIG20I= B8 8 R B 1 POWER CABLE Power cable 8m M12x1 TIG18/silicon ;
Lim) Code Lim} Code i Tl T - kA8 Bm/M12x1UTIG1BIREREE
Complete outer cover Bm M12x1 TIG20/2 control wires/leather cover/silicon
4 IGN7625 4 IGN7615 B B M2 TG-S 8% PERRE 1 BZALEEAG A8 Gas tube 4m 1/4G
8 IGN7621 8 IGN7611 _ - S 4m 1/4G 1
Complete outer cover 4m M12x1 TIG18/2 control wires/leather cover/silicon 1 m
BRE dmMIZTICIIZ SR SR P RN

1/4-28 - TIG 20/25/24W

& [ Gas tube 8m 1/4G
< o G ‘

Power cable 4m TIG18 USA
HEE AmITIG18/IE

Power cable Bm TIG18 USA

TIG 20/25/24W - 2 wiers

TIG 20/25/24W - 4 wiers

1/4-28 TIG 20/25/24W

=3
T —

1/4-28 - TIG 20/25/24W

B

TIG 18 TIG 20/25/24W

Threading L (m) Code Threading L (m) Code

i 4 IGND037-01 i 4 IGND031-01
3 IGN0038-01 % 8 IGND032-01

318 24LH-TIG 18

1/4-28 - TIG 20/25/24W

Tia-14

TIG 18 TIG 20/25/24W
Threading L (m) Code Threading L (m) Code
. 4 IGNODE3 i 4 IGNDE72

) a IGNDGI6 ) f: IGNDE73

TIG 18 TIG 20/25/24W EE BmiTIG18/ER
Threading L (m) Code Threading  L(m) Code Water tube 4m 3/8G TIG20
it 4 IGNDD37 Wiia 4 IGNDD31 K& 4m 3/8G/TIG20
X Water tube 8m 3/8G TIG20
1/4-28 TIG 20/25/24W 0 a IGNOD38 &8 IGMND032 ki 8m 3/8GITIG20 1
wizd Water tube 8m 3/8G TIG18 i
= e K& 8m 3EGITIG1E
S HBJALH - 116 18 Water tube 4m 3/8G TIG18
ﬂ!}.ﬂ M12x1 K& 4m 3/BGITIG1S

Power cable 4m TIG20 USA
HEEAMTIG20/£
Power cable 8m TIG20 USA
R EEMITIG20/E S,

Mote: about the registered trade mark,reference number used are only for convenient research. we are no way affiliate with mentioned reqgistered trade marks and brand



PLUGS & FITTINGS #k PLUGS & FITTINGS #:k

2| C € mveorar (@ | C € meorar (@

ECTRICPLUCS [Ret. | Description (Pack _
3/8-24 ITY8079 POWER F” “NG Connector 2 holes 10
PR A 7
m SI 7 IHQO7ET Connector 3 holes 5
! £33 . S R
l TIG9-17-24 T Connector 5 holes
I s ] I 8l M12:1  ITY0016 L 2
3/8-24 L ITYB0TE M14-1.5 ITY0o018 Centre adaptor torchside PLASMA without back box and pins
| M16:1.5 ITY0052 SHFSRELTEREDY 10
w m[ = M10+1 ITY0056
° 3/8G ITY8065
IHQO737
IHQOT56
2 3
1/4-28 L ITYB076 i 5
TIG20-24W-25 -
3[ ————————————————————————— 3[ - M12+1 ITY8064 :
318G ITY8070 o
1 3 5 1
5/8-18 ITY8081
1ZX00863

10

TIG26 o M16=1.5 ITYOOD53
I ____________________________ 51 M12+1 ITY8087
3/8G ITY8061

Other plug and socketat requst

G

TIG9-17 TIG20-24W-25
3/8-24 ITY8084 ITY8085 Tig-14LH
- O
- 1
TIG26 TIG18 I | Ref. | Bescription | Pack |
5/8-18 L ITY8060 ITYBOTS 7/8-14LH GAS FI NGS
Connector with hexagon nut 5/8-18UNF 10
AL 5/8-18UNF/A RMER
9]: SI Connector with hexagon nut 1/4G 10
8 LnI 5/8-18R 1ZT9000 FAW 114G mAERE
© s/g-18L 1279006 Connector with hexagon nut M16x1.5 10
BLE Mex1 55 RAES
Connector with hexagon nut 5/8-18UNF 10
A 58-18UNFIARMEE
Connector with hexagon nut 3/8-24UNF 10
174G 1ZT9001 EiLE 3/8-24UNFlaME S
0 )
2 eI M16+1.5 1ZT9002 Connector with hexagon nut 3/8G
@ =) 10
. M10+1 1ZTe008 EH BGIAANEE

Connector with hexagon nut 5/8-18UNF LH

Description | Pack | Description | Pack | FL3 5/8-18UNF LHIA fo 54818 10

Connector with hexagon nut M12x1

N 10
Cabl e conne ctor 8mma/9mm F M12x1 10 Cabl e conne ctor 4mmg/6mm F 3/8G TIG20 10 5/6-18 1ZT9003 B MR RARE
A4 3E L 8mmag/9mm F M12x1 {84 B L 4mmag/6mm F 3/8G/TIG20 Connector with hexagon nut M10x1 i
Cable conne ctor 8mma/9mm F M14x1.5 - Cable connector 7/8-14UNF LH TIG18 Back/USA - ai2 1219004 BT MIOXTURANRS
$A4 1 2 8mmg/9mm F M14x1.5 $40 B3 5L 7/8-14UNF LH TIG18/ [F /2R gI 318G 1279005 Connector with hexagon nut 9/16-18 i
gg;gn*nedur 18mmg/ 9mm F M16x1.5 - %a;l;;;r;{acmr 4mmg/8mm F 1/4-28UNF 4 M12-1 1ZT9007 AW 9M6-18/XAAEE
16mmg/ 8mm F M16x1.5 4mmg/6mm F1/4-28UNF 9/16-18 1ZT9009 Connetecing adaptor M12X1-3/8G

Cable connector 25mmg/ 10mm F M16x1.5 Cabl e connector 8mmq/9mm M 3/8- 24UNF L M12X1-3/8G

10 10

P 3 E
ifl i 2:“":‘: 10:;; : Mfﬂ::{'}: ?:fl e e irt“"' :‘;g’“mf'\; i :::::szm Connetecing adaptor M12x1 5/8-18UNF
& conne ctor 16mmg/ Smm X & conne ctor 16mmg/ 9mm - £IEL M12x1 5/8-18UNF
{950 515 L 16mmg/ 9mm F M10x1 il 5 3% 3 16mmgl Smm M 3/8-24UNF 10 M12:1(My3/8G(F)  1ZT5601 A e e
Cable connector TIG26 front/USA 2 pcs e Cabl e conne ctor 25mmag/ 10mm M 5/8-18UNF i M12-1(M)i5/8-18(F) 1£T5602 HHEL M!‘]lﬁx1.p5-M1GX1 5F '
I L TIG26/MEE £S5 S 4 IE L 25mmg/ 10mm M 5/8- 1BUNF M16+1.5(M)IM16+1.5(F) 1ZT5603 Coniatenlagadait rM12x'1 146
netecing a

Cabl e conne ctor 25mmg/ 10mm F 3/8G Cabl e connector TIG9-17 front/USA M12:1(M}14G(F} 12T5605 3
4 38 3k 25mma/ 10mm F 386 10 4RI L 116917 WIIER /SR S 18 R EEE M liAG
Cable connector 4mma/6mm F M12x1 10 Cable connector 7/8-14UNF LH TIG20 Back/USA 10
A4 HIZ L dmmag/6mm F M12x1 ) HIF L 7/8-14UNF LH TIG20/ FEp/E
Cabl e conne ctor 16mmg/ 9mm F 3/8G 10 Cabl e conne ctor 25mmg/ 10mm F M12x1 10
4 I L 16mmg/ Bmm F 3/8G {40 3 L 25mmg/ 10mm F M12x1

o 8 1 Note: about the registered trade mark,reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand 8 2 =




CABLE & PANEL CONNECTORS  CABLE & PANEL CONNECTORS

RiEEL ¢ C€ meren @ ¥ C € avooonn @ Hhis$E sk

o

e o b e ] e [Typo | Doscripion [ pack_

@ 10-25 200A 6 23 6 20 @32 14 Plug TIG 25mmq 1/4G L=0.6m

o 10
TIGH 1R % #isk25mmaq 1/4G L=0.6m
2. ® 10-25 200A 6 23 6 20 ©32 14 * A
= Plug TIG 25mmq 1/4G L=0.6m/new type
35-70 400A T et 6.5 30 @48 21 TIGHREMHL25mmg 1/4G L=0.6m/FH X i
35-70 400A 13 33 6.3 30 o388 21 Plug TIG 25mmq 3/8G L=0.6m o
70-95 500A 20 33 | 6 30 o038 24 TIGH 1R & fi2£25mmq 3/8G L=0.6m
A
70-95 500A 25 34 65 30 ©48 24 Plug TIG 25mmaq 3/8G L=0.6m/new type 10
TIGHRE#HL25mmq 3/6G L=0.6m/FH X
Plug TIG 25mmg M12x1 L=0.6m 10

TIGH R # #fi2£25mmq M12x1 L=0.6m

Plug TIG 25mmqg M12x1 L=0.6m/new type 10
TIGHREfML25mmg M12x1 L=0.6m/FH %

Plug TIG 50mmq 1/4G L=0.6m

TIGH R ZE#HL50mmg 1/4G L=0.6m
Plug TIG 50mmgq 1/4G L=0.6m/new type
TIGH i #£50mmq 1/4G L=0 6m/Ei 10

Plug TIG 50mmqg 3/8G L=0.6m
TIGH tR & i 2£50mmqg 3/8G L=0.6m

2m
oo Ll Lo Lo Lo  E—
“ TIGH & i 550mmq 3/8G L=0 6m/zi 3, 19

6 7

Plug TIG 50mmg M12x1 L=0.6m

4 5
10-25 200A 6 23 6 20 ©325 14 0.6m TIGH % #£50mmg M12x1 L=0.6m td
35-T0 400A 18 23 6 05 @3 21 ‘ Plug TIG 50mmag M12x1 L=0.6m/new type 10
70-95 S500A 25 33 ;] 305 38 24 c = TIGH 1R ZE{#HL50mmg M12x1 L=0.6m/Fi%
T e e e —— .
TIGHREHL25mmg L=2m
Plug TIG 25mmgqg L=2m/new type 10
0.22m . TIGA thEMHL25mmg L=2m/F 2
Plug TIG 50mmg L=2m

D _*-q & — TIGH it #50mmg L=2m &l
. Plug TIG 50mmaqg L=2m/new type 10
TIGA R EMLS0mmg L=2m/F =

Plug TIG 25mmg quick conne ctor L=0_.6m
TIG A3tk 4% s£25mmq quick conne ctor L=0_6m

Plug TIG 25mmq quick connector L=0_6minew fype
c TIGE 2 # # sk 25mmg quick connector L=0.6m/Ef 5 10

Plug TIG 50mmg quick conne ctor L=0.6m
TIG A3tk %% sL50mmq quick conne ctor L=0 6m

Plug TIG 50mmq quick connecior L=0.6minew fype
TIGE 1 # i 2L50mmag quick connector L=0.6m/Ef =,

Plug TIG 50mmgq 5/3-18UNF L=0.22m
TIGH & #3£50mmq 5/8-18UNF L=0.22m 10

D Plug TIG 50mmq 5/8- 18U NF L=D .22m/new type
TIG itk %3 s£50m mq 5/8- 18U NF L=0.22m izt

15Q6085

1ZH7634

o 8 3 Note: about the registered trade mark,reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand 84 =




HOSES-TUBES

2/ C € mownr @

€ EN 26848

TUNGSTEN ELECTRODES i‘%ﬁ

Description ﬁf—:” Description m
EPDM tube ® 45x47m m/Black: EPDME O 45x47m m/i & Pure tungsten @ 1.0x150mm Green; 45 © 1.0x150mm/& & 10
EPDM tube ® 31x33m m/Black: EPDME © 31x33mm/B & Pure tungsten © 1.6x150mm Green;#i$§ © 1.6x150mm/iE & 10
EPDM tube @ 35x37mm/Black; EPDME © 35x3Tmm/B & Pure tungsten ®@ 2.0x150mm Green;#ii$8 © 2.0x150mm/& & 10
EPDM tube ® 16x18m m/Black: EPDME © 16x18mmIB & Pure tungsten © 2.4x150mm Green;4i$5 © 2. 4x150mm/G & 10
EPDM tube ® 20x22m m/Black. EPDME © 20x22m m/R & Pure tungsten @ 3.0x150mm Green; 445 © 3.0x150mm/& & 10
EPDM tube ® 19x21mm/Black: EPDME O 19x21m m/B & Pure tungsten ®@ 3.2x150mm Green;#ii$4 © 3.2x150mm/&t & 10
EPDM tube © 26x26mm/Black: EPDME O 26x28m m/B & Pure tungsten @ 4.0x150mm Green;#ii$§ © 4 .0x150mm/ig & 10
EPDM tube ® 24x26m m/Black: EPDME © 24x26m m/ & Pure tungsten © 4.8x150mm Green;4i$5 © 4. 8x150mm/& & 10
EPDM tube ® 16x20m m/Black; EPDM# © 16x20m m/R&
EPDM tbe ® 14316 Smm/Black:EPDME © 14x16 5mmifB & Purs tungsten @ 1.0x175mm Green: 435 © 1.0x175mm/8R & 10
EPDM fube ® 22 5x25 SmmiBlack-EPDMEE © 22 5x25 smmiE & Pure tungsten © 1.6x175mm Green;4i$8 © 1.6x175mm/iG & 10
Pure tungsten @ 2.0x175mm Green;#i$§ © 2 0x175mm/i & 10
Pure tungsten ©® 2. 4x175mm Green;#ii$8 © 2. 4x175mm/i & 10
EPDM tube @ 10 5x14mm/Black; EPDME © 10 5x14mm/B & Pure tungsten © 3.0x175mm Green; 445 © 3.0x175mm/i & 10
EPDM tube © 8 5x12 5mm/Black; EPDME © 85x12 smm/R & Pure tungsten © 3.2x175mm Green; @45 © 3.2x175mm/&G & 10
EPDM tube ® 11.7x15.7mm/Black;EPDME ¢ 11 7x157mmiR & Pure tungsten © 4.0x175mm Green; 445 © 4.0x175mm/& & 10
EPDM tube @ 4x7mm/Black EPDME © 4xTmm/R & Pure tungsten @ 4.8x175mm Green; 58 @ 4 8x175mm/ig & 10
EPDM tube ® 5x10mm/Black;EPDME © Sx10mm/R & Pure tungsten © 6.4x175mm Green;#i$5 © 6.4x175mm/& & 10
Rubber tube © 22x25mm/Black; % % i i & © 22x25mm/f &
Rubber tube ® 25x28mmBlack 3 #i 1k i & © 25x28mmi/ff & Tungsten Th WT20 © 1.0x150mm Red £t4& WT20 @ 1.0x150mmiAT & 10
Rubber fube ® 28x30mmBlack %Ak it & © 28x30mm/R & Tungsten Th WT20 ® 1.6x150 mm Red §t45 WT20 @ 1.6x150 mm/4L & 10
Rubber lube ® 40x43mm/Black R 7 R ® 40x43mmifR & Tungsten Th WT20 ® 20x150 mm Red 45 WT20 © 2.0x150mmi4I & 10
Rubber tube ® 51x54mm/Black: St # it © 51x54mmif & Tungsten Th WT20 ® 2.4x150 mm Red $48 WT20 © 24x150mmiT& 10
Tungsten Th WT20 @ 3.0x150 mm Red 45 WT20 @ 3.0x150 mm/&l & 10
- Tungsten Th WT20 @ 3.2x150 mm Red;§$8 WT20 @ 3.2x150 mmiAT & 10
EFDM ibe: b mmi/Black EEDMEd sxtimm/M & Tungsten Th WT20 © 4.0x150 mm Red $H8 WT20 © 4.0 x150mmi4l & 10
EPDM tube © 5xBmm/Blue;EPDME © 5xBmm/iE & Tungsten Th WT20 ® 4.8x150mm Red:§t45 WT20 ® 4.8x150mm/L& 10
EPDM tube ® 10x15mm/Black;EPDME @ 10x15mmmmiE &
EPDM‘“""‘DSXBmm’Red"E_pDMEQ’E"amm’ﬂE Tungsten Th WT20 ® 1.0x175mm Red:§t45 WT20 @ 1.0x175mmiL & 10
EEDH W am O SmmIACc ERDMIED i mim e Tungsten Th WT20 © 16175 mm Red 148 WT20 & 1 6x175mmid & 10
Tungsten Th WT20 @ 2.0x175mm Red #45 WT20 © 2.0x175mm/i&L & 10
: Silicon tube © 9x13mm/ White-& {8 318 © 9x13mm/E & Tungsten Th WT20 ® 2.4x175mm Red;;§1$8 WT20 © 2.4x175mmil & 10
Silicon tube © 5xBmm/White:E & B & O xBmm/E & Tungsten Th WT20 @ 3.0x175mm Red #48 WT20 @ 3.0x175mm/iA4L & 10
S Silicon tube ® 10x15mm/White;i% Br& © 10x15mm/E e TG M TGt el BV TG a0
Silicon tubs  6xamm/White: B 12 8¢ & & BxImm/ & Tungsten Th WT20 ® 4.0x175mm Red;§t$8 WT20 © 4. 0x175 mmi4l & 10
Tungsten Th WT20 © 4.8x175mm Red;;§48 WT20 @ 4. 8x175mm/4L & 10
Tungsten Th WT20 ® 6.4 x175mm Red ;48 WT20 @ 6.4 x175mmis & 10
Etitibe o dshimmiBlacicPUR O Axammmnm e Tungsten Th WT20 ® 1.0x178mm Red $H4& WT20 @ 1.0x178mm/ALE 10
PU tube & 4x6mmihigh temperature/Blue; PUE © 4:6mm/ W B/E & Tungsten Th WT20 © 16x178 mm Red:§t45 WT20 @ 1.6x178mmiT & 10
B b s s Tungsten Th WT20 0 2.0178mm Red $£88 WT20 0 20x178mmiIs 10
PUlube ® Exdmminigh temperature/Blue;PUE ® BxBmm/f %2k & Tungsten Th WT20 ® 2.4x178 mm Red £146 WT20 © 2.4x178mmALE 10
PVC tube ® 19x21mm/Black Tungsten Th WT20 @ 3.0x178 mm Red ;§1$8 WT20 © 3.0x178 mmiAL & 10
BEE 0 1921mmiReE Tungsten Th WT20 @ 3.2x178 mm Red £45 WT20 © 3.2x178 mm/4l & 10
i\gﬁ"?z"éfzaaﬁ?ﬁgm ‘ EPDM tube ® 6x9mm/Black; EPDME ® 6xamm/E & I::g::::ﬁ ng:::ﬂg:: ::z:: xgg::gi::gggﬁ: 13
PVC tube ® 24x26mm/Black EPDM tube ® 10x15mm/Black; EPDME © 10x15mmiReE ' '
% % 0 24x26mmIBE Tungsten Th WT20 @ 6.4 x178 mm Red 545 WT20 @ 6.4x178 mmil & 10
EPDM tube @ 8x13mm/Black;EPDME @ 8x13mm/ &
PVC tube © 10.5x15m m/Gray Tungsten Ce WC20 @ 1.0x150mm Grey ;&4 WC20 @ 1.0x150mmi#E & 10
PVCIE & © 10.5x15m m/% & Tungsten Ce WG20 ® 1 6x150mm Grey £548 WC20 © 1 6x150mm/#E & 10
PVC tube ® 8.5x12.5 mm/Gray N PYC wira hose O5xSmmiElack MK 5L O sxmmiil & Tungsten Ce WC20 ® 2.0x150mm Grey ;£ 45 WC20 © 2.0x150mmi#E & 10
PVCHEE & © 85x12.5m miZi \ PVC wire hose @ 5x8mm/Blue 1478 f4 & © SxBmm/iE & .
g Tungsten Ce WC20 © 2. 4x150mm Grey 4 WC20 @ 2 4x150mmi% & 10
PVC wire hose ® 5x8mm/Red 158 P& © 5xBmm/ALR Tungsten Ce WC20 @ 3.0x150mm Grey 5548 WC.20  3.0x150mm/ & 10
Nylon tube ® 6xBmmiBlack Tungsten Ce WG20 © 3.2x150mm Grey #5143 WC20 @ 3.2x150mm/#k & 10
Bk & o 6x8mmifRE Leather hose @ 18x21mm L=800mm/Black TIGE & © 13:21mm L=800mm/B & Tungsten Ce WC20 @ 4 0x150mm Grey 548 WC20 @ 4.0x150mmi#k & 10
- Leather hase © 26x26mm L=800mm/Blck TIGE & § © 26:06mm L=300mmiB & Tungsten Ce WC20 @ 4 Bx150mm Grey £42 WC20 @ 4 8x150mm/iE & 10
Tungsten Ce WC20 © 6.4x150mm Grey #5483 WC20 @ 6.4x150mm/#E & 10

= 8 5 Note: about the registered trade mark reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand 8 6 T




TUNGSTEN ELECTRODES ##

2| C € eneoora7 @

[Description " pack |

Tungsten Ce WC20 © 1.0x175mm Grey 4 WC20 ®1.0x175mmi &
Tungsten Ce WC20 © 1.6x175mm Grey; 5 WC20 01.6x175mmi% &
Tungsten Ce WC20 © 2.0x175mm Grey: 5 WC20 02.0x175mmi% &
Tungsten Ce WC20 © 2.4x175mm Grey; 5 WC20 92.4x175mmik &
Tungsten Ce WC20 © 3.0x175mm Grey: 342 WC20 ©3.0x175mm/¥ &
Tungsten Ce WC20 © 3.2x175mm Grey:$§# WC20 03.2x175mmilk &
Tungsten Ce WC20 © 4.0x175mm Grey; 558 WC20 04.0:175mm/E &
Tungsten Ce WC20 © 4.8x175mm Grey; 58 WC20 04.8x175mmik &
Tungsten Ce WC20 © 6. 4x175mm Grey; i WC20 06 4x175mm/E &

Tungsten Zr WZ8 & 1.0:175mm White #5488 WZ8 @ 1.0x175mmig &
Tungsten Zr W28 @ 1.6x175mm White #5488 WZ8 0 1.6x17Smm/E &
Tungsten Zr WZ8 © 2 4x175mm White $£42 WZ8 0 2.4x175mm/E &
Tungsten ZrWZ8 ¢ 3.2x175mm White;$5 42 WZ8 0 3.2x175mm/B &
Tungsten Zr WZ8 © 4. 0x175mm White #5423 WZ8 0 4.0x175mm/S &
Tengsten Zr WZE © 4 8x175mm White #5423 WZ8 0 4.8x175mm/S &
Tungsten Zr WZ8 @ 6.4x175mm White 3542 WZB @ 6 4x175mm/E &

Tungsten ThWT10 ® 1.0x150mm Yellow & 48 WT10 © 1.0x150mm/& &
Tungsten ThWT10 © 1.6x150mm Yellow; 5 8 WT10 ¢ 1.6x150mmiE &
Tungsten Th WT10 @ 2.0x150mm Yellow; 3 4 WT10 © 2.06150mm/E &
Tungsten Th WT10 ® 2 4x150mm Yellow; 2 8 WT10 © 2 4x150mm/E &
Tungsten Th WT10 © 3.0x150mm Yellow & 48 WT10 © 3.0x150mm/#& &
Tungsten ThWT10® 3.2x150mm Yellow; 5 85 WT10 0 3.2150mmiE &
Tungsten Th WT10 ® 4.0x150mm Yellow; 5t #§ WT10 ® 4 0x150mm/& &
Tungsten Th WT10 @ 4 Bx150mm Yellow;t 45 WT10 & 4 8x150mm/& &

Tungsten ThWT10 ® 0.5x75mm Yellow 3t 5 WT10 @ 0.5x75mm/#& &

Tungsten Th WT10 © 1.0x175mm Yellow;4 8 WT10 © 1.0:175mm/&E &
Tungsten ThWT10 ® 1.6x175mm Yellow; 545 WT10 @ 1.6x175mm/E &
Tungsten ThWT10 @ 2.0x175mm Yellow; 5 £ WT10 © 2.00175mm/E &
Tungsten ThWT10 © 2.4x175mm Yellow; 545 WT10 0 241 75mm/E &
Tungsten Th WT10 @ 3.0x175mm Yellow; 5 £ WT10 © 3.0:175mm/E &
Tungsten ThWT10® 3. 2¢175mm Yellow;E 8 WT10 © 3.2175mm/E &
Tungsten Th WT10 & 4.0x175mm Yellow; 5 8 WT10 © 4 0x175mm/E &
Tungsten ThWT10 © 4.8x175mm Yellow; 5 8 WT10 0 4.8175mm/E &
Tungsten ThWT10 ® 0.5x175mm Yellow 548 WT10 0 0.5 75mm/E &

Tungsten Th WT40 © 1.0x175mm Orange 38 WT10 @ 1.0x175mm/E &
Tungsten Th WT40 @ 1.6x175mm Orange: 345 WT10 @ 1.6x175mm/E &
Tungsten Th WT40 © 2.0x175mm Orange: 345 WT10 © 2.0:175mm/B &
Tungsten Th WT40 © 2.4x175mm Crange 345 WT10 @ 2.4x175mm/E &
Tungsten ThWT40 © 3.0x175mm Orange 3 8 WT10 @ 3.0:175mm/E &
Tungsten ThWT40 © 3.2x175mm Crange 345 WT10 ¢ 3.2:175mm/BE &
Tungsten ThWT40 © 4 0x175mm Orange 3 8 WT10 @ 4. 0x175mm/E &
Tungsten Th WT40 © 4.8x175mm Crange 345 WT10 ¢ 4.8x:175mm/BE &

Tungsten La WL15 @ 1.0x150mm Gold:#48 WL15 0 1.0x150mmig &
Tungsten La WL15 @ 1.6x150mm Gold#45 WL15 © 1.6x150mm/d &
Tungsten La WL15 © 2.0x150mm Gold;#45 WL15 © 2.0x150mm/d &
Tungsten La WL15 @ 2 4x150mm Gold#45 WL15 © 2. 4x150mmid &
Tungsten La WL15 @ 3.2x150mm Gold;#48 WL15 0 3.2x150mmig &
Tungsten La WL15 ® 4.0x150mm Gold;## WL1S @ 4 Dx150mmig &
TungstenLa WL15 © 4.8x150mm Gold:#45 WL15 0 4 8x150mmig &

Tungsten La WL15 ® 1.0x175mm Gold;#85 WL1S © 1.0:175mmig &
Tungsten La WL15 @ 1.6x175mm Gold#15 WL15 © 1.6x175mm/idE &
Tungsten La WL15 @ 2.0x175mm Gold;#48 WL15 0 2.0:175mmig &
Tungsten La WL15 @ 2 4x175mm Gold#45 WL15 © 2.4x175mm/id &
Tungsten La WL15 © 3.2x175mm Gold; 45 WL15 © 3.2x175mmig &
Tungsten La WL15 ® 4.0x175mm Gold;#4 WL15 © 4.0x175mmig &
Tungsten La WL15 @ 4.8x175mm Gold;#45 WL15 0 4.8x175mmig &

10
10
10
10
10
10
10
10

10
10
10
10
10
10
10

10
10
10
10
10
10
10

[Description " pack _

Tungsten La WL20 © 1.0x175mm Blue i WL20 ¢ 1.0x175mm/EE &
Tungsten La WL20 © 1.6x175mm Blue #%5 WL20 @ 1.6x175mm/ES
Tungsten LaWL20 © 2.0x175mm Blue 45 WL20 9 2.0:0175mmiEE&
Tungsten LaWL20 O 2.4x175mm Blue #45 WL20 0 2 41T5mm/ER
Tungsten La WL20 ® 3.2x175mm Blue 48 WL20 & 3 21 75mm/ER
Tungsten La WL20 © 4 0x175mm Blue #45 WL20 0 4.0x175mm/ER
Tungsten La WL20 © 4 Bx175mm Blue #45 WL20 0 4 8x175mm/EE
Tungsten La WL20 @ 6 4x175mm Blue #45 WL20 0 6. 4x175mm/ES

Tungsten La WL20 © 1.0x150mm Black 843 W20 © 1.0x150mmR &
Tungsten La WL20 ® 1.6x150mm Blue; 4% WL20 ® 1 6x150mm/EE
Tungsten La WL20 © 2.0x150mm Blue;##45 WL20 © 2.0x150mm/ER
Tungsten La WL20 © 2 4x150mm Blue; 48 WL20 0 2 4x150mm/E S
Tungsten La WL20 © 3. 21 50mm Blue #8145 WL20 © 3. 2x150mmiEE&
Tungsten La WL20 © 4 0x150mm Blue #48 WL20 © 4 0x150mm/EE
Tungsten La WL20 © 4 Bx1505mm Blue;#$5 WL20 © 4 8x150mm/E &
Tungsten La WL20 ® 6 4x150mm Blue: 4% WL20 © 6 4x150mm/EE

Tungsten LaWL10 ® 1.0x175mm Black; ## WL10® 1.0x175mm/R &
Tungsten La WL10 © 1.6x175mm Black 8 WL10 @ 1.6175mmiB &
Tungsten La WL10 ® 2.4x175mm Black #8483 WL10 @ 2.4175mmiB &
Tungsten La WL10 © 3 2x175mm Black#58 WL10 @ 3. 2x175mmifR &
Tungsten La WL10 ® 4 0x175mm Black #8452 WL10 @ 4. 0:175mmiB &
Tungsten La WL10 ® 4 Bx175mm Black 4 WL10 @ 4 81 75mmiB &
Tungsten La WL10 @ 6.4x175mm Black 4 WL10 @ 6.4x175mmiB &
Tungsten LaWL10 ® 8.0x175mm Black 4 WL10 @ 8.0:175mmiB &

Tungsten La WL10 @ 8.0x85mm Black; 542 WL10 © 8 0x85mm/E &

Tungsten LaWL10 © 1.6x150mm Black #8142 WL10 © 1.6x150mm/B &
Tungsten LaWL10 ® 2. 4x150mm Black: 84 WL10 0 2. 4x150mm/B &
Tungsten La WL10 © 3.2x150mm Black: %3 WL10 @ 3.2x150mm/R &

Tungsten WR2 @ 1.0x175mm Emerald ##4$2 WR2 ¢ 1. 0:x175mm/B G &
Tungsten WR2 @ 1.6x175mm Emerald {45 WR2 0 1.6:175mm/BEE
Tungsten WR2 @ 2.4x175mm Emerald §#45 WR2 @ 2.4x175mm/BEE&
Tungsten WR2 ® 3.2x175mm Emerald 45 WR2 @ 3.2x175mm/EFE
Tungsten WR2 © 4.0x175mm Emerald 45 WR2 0 4.0x175mm/BHE
Tungsten WR2 © 4.8x175mm Emerald 45 WR2 0 4.8x175mm/EFE

10
10
10
10
10
10
10
10

10
10
10
10
10
10
10
10

10
10
10
10
10
10
10
10

10

10
10
10

10
10
10
10
10
10

= 8 7 MNote: about the registered trade mark reference number used are only for convenient research. we are no way affiliate with mentioned registered trade marks and brand

88-



